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1. A word that is spelt or pronounced like *
another word but have completely different

SLD/23 A-2

6. Choose the correct word to complete the
following sentence:

meaning js known as a/an OF My research focuses or the half
{A) Homonym A [ of the eighteenth century.
(B) Synonym [ (A) later
(C) Antonym (B) latter
(D) Paronym (©) late

(D) lateness

7. Identify the clauseinthe following sentence:
Neha played when evening came.
(A) Neha played
(B) Played when evening
(C) When evening came
(D) Evening came

2. An animal that feeds on plants is called
(A) Carnivorous
(B) Herbivorous
(C) Insectivorous
(D) Omnivorous

8. Choose the correct plural form:

3. What is the 'noun form of ‘Restrict’? (A) Danghter-in-law

P Eeszcﬁ (B) Daughters-in-law
E(l;; Restricti' . (C) Daughter-in-laws
(Dj R::mzﬁ:: (D) Paughters-in-laws

9. Whatis the antonym of Conform?

KRNSO RFDDHEXDOXAXDD2DIZLHDLDIDLSLJDVLLELLDBIDDDDLDDT UKD MRS DD E R

@ Rebel [w]:
4, Fillintheblank with the correct preposition: (ii). Hide | i
We’vebeenworking, this horning. (iii) Conflict E]
(A) in {iv) Trust
) a (A) Both () and.(iii
(C) since (B) Only (i), '
(D) on (C) Both (i) and (if)
(D) Only (iii)
5. Fill in the blank: [=]:4 =] 10. Identify the type of the underiined noun:
A of lions. “% Wisdom is always better than strength.
(A) herd E (A) Collective
(B) group (B) Common
(C) pride (C) Material
(D) pack (D) Abstract
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11. Convert the following direct speech to
indirect speech:
He said, “I have passed the examination.”

(A) He said Fam passed the examination.

(B) He said that he had passed the
examination,

(C) Hesaid thatIpassed the examination.

(D) He has passed.

12. ‘Red-hot’ is acompound word thatis formed
by efiret
(A) Noun and Noun AE’]':IE
(B) Adjective and Adjective  []
(C) Noun and Gerund
(D) Adjective and Verb

13. Identify the correctly spelt word:
(A) Conotation
(B) Conottation
(C) Connotasion
(D) Connotation

14. The army the troubled places
as curfew remained in force. .
Choose the correct option: E E
(A) moved . ¥
[=] 2

(B) walked

(C). patrolled

(D) ran

15, Select the correct form of the simple
sentence for the compound sentence mentioned

L R B R R i g i i R g e g g R g R R i R R o g i R R Rl T R g

B s

16. The antonym of the word Gruelling is
(A) Cunning

(B) Basy LE El
(C) Motivating [w] %
(D) Dampening

17. Form acorrect and meaningful sentence by
rearranging the following;
{a) To sell
(b) A gentleman
(c) Who wishes to go abroad
(d) Has adog

(8) (®), @, @, @
(B) (a), (), (d), (0
(©) ®) ©, @, @
D) (), (a), (@), (c)

18. The making of the plan is in hand— Here
‘making’ is a/an
{A) Noun
(B) Infinitive
(C) Adjective
(D) Gerund

19. What does the word Verisimilitude mean?
(A) Truth
(B) Similar
(C)- Verified

(D) Familiar

below:
He was not confident, but he appeared for 20. Select the correct phrasal verb for the
the interview. underlined word in the sentence:
(A) In spite of not being confident he She did not appear for the interview on
‘ appeared for the interview. time. ]
(B) In spite of lacking in confidence he (A) turn out IE, E
appeared for the interview. d':é%‘:
(C) Both (4) and (B) (B) tum up o
(D) He appeared for the interview though (C) tumn upon
he was not confident. (D) turn in
(=] 52 [x] Please Turn Over

E »
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23. Oneof my friends
summer. Choose the correct option:

ooy [

21. The plural form of ‘hypothesis’ is
(A) Hypothéses

(B) Hypothysis .=IE| E‘l;
(C) Hypothises E]

(D} Hypothesis

22, Who is an atheist?

(A) One who belives in the existence of
God.

(B) One who is confused about the
existence of God.

(C) One who does not believe in the
existence of God.

(D) One who is a follower of aesthetic
principles.

visiting me this

(A) are

(B) willbe
(C) are being
D) will

24, Complete the idiomatic expression.
Birds of the same feather

together.
(A) fly

(B) chirp

(C) flock

(D) sing

25. QurSirteachesMathematics English.

Choose the correct option:

(A) across [!;l E]

(B) beside JIEI 3

(C) besides

(D) over
[ =]
[~
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26. What is the negative form of the following
sentence?

Alfred was the best king that ever reigned

in England.

(A) No other king as good as Alfred ever
reigned in England.

(B) Alfred remains peerless as a king in
England,

(C) Alfred was not the best king that ever
reigned in England.,

(D) None of the above

27. What is the synonym of Lurk? -'IEI

(A) Lean o
(B) Hide =}

(C) Play

(D) Guide

28, That is a fault that will right itself.

The underlined word has been used as a/an
(A) Adverb
(B) Verb
(C) Noun
(D) Adjective

29. Identify the complex sentence from the
options below:

{A) He went to his father’s native place.

(B) He succeeded although his success
was not expected.

(C) He was a mere hoy but he offered to
fight the giant.

(D) He must have done his duty for he is
a conscientious man,

30. Cartography is the study of 4=}
H%!Eé

(A) Carts A
() Maps =]
(C) Graphic Art

(D) Cartoons



31. Complete the series:
7,11, 19,35,67,2

(A) 99
(B) 134
() 98
M) 131

32, Under which Article of the Constitution
is the President’s rule promulgated in any state
in India?

(A) 326 LE ELI_
(B) 370

(€) 352

D) 356

33. In which year NATO was formed?
(A) 1947
B) 1949
(C) 1952
(D) 1960

34, Find the smallest number by which 5808
should be multiplied so that the product becomes
a perfect square.

A) 2 l}l'ﬂE‘!
@) 3 El%
<) 7
(D) 11

35. X, Y and Z are business partners. In the
business, twice the capital of X is equal to thrice
the capital of ¥ and the capital of Y is four times
the capital of Z. If the profit earned is ¥ 2,97,000,
whiat is the share of ¥?

>

XSG AXGOR XD AKX QDO HVDDS RO THODOROCTD DO KD DA DTRED D RN

h

SLD/23
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31. Tl o e 8
7, 11,19, 35,67, 2
(A) 99
(B) 134
(C) 98
(D) 131

32, SO FRAIEE @ L FGefog *Pm
TS @ I AW w0 ame
(A) 326

(B) 370
(C) 352

(D) 356

33. i IF TD! i wafa e
(A). 1947 T
(B) 1949 AR
(C) 1952 it
(D). 1960 T

34, o Faes WY M 5808-F @ TAE
e @@ e WY =TI
(A) 2
(B) 3
() 7
@) 11

35, X, Y4R Z G IRAT RN | Tiibee
X~ YR TR Y-oiF AL 3 S TN 9%
Y- S Z-9F SRR 4 B0 W | 1% Aiced
A 2,97,000 DI T, O Y- ©lF o ¢

(A) T1,18,000 (A) 1,18,000 Biet EHE
(B) ¥1,08,000 (B). 1,08,000 Bt AR
(©) T1,28,000 (C) 1,28,000 51 :
D) T1,38,000 (D) 1,38,000 B=A
EI [=] Please Turn Over
Dgd
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36. Simon and Anik save 25% and 40% of their
respectiveincomes. If their expenditures are equal,

>

6

36. P G3 SIS O SIEd IUFW 25% 8
40% ALY L | A SItE 426 AR AT, OK P

then find the ratio of the incomes of Simon and @WWWWW@ﬁ‘ﬁIWI
. A) 4:5
(A) 4:5 E| EI EB; 3:4
B) 3:4 A i
D) 6:5 (D) 6:5

37. Eric J. Hobsbawm aunthored the book—
(A) Pride and Prejudice
(B} Great Expectations
(C) The Age of Revolution (1789-1848)
(D) Crime and Punishment

(A) 2T I g A

®B) b AR =

(C) W IESH TSFCH{(1789-1848 1)
(D) TEH SIS AlfPars

L

38. Who wrote the book “An Era of Darkness 38. “An Era of Darkness : The British Empire

: The British Empire in India”? in India® 33 & FcdfeEme
(A) Amlesh Tripathi (A) Ste s
(B) Shashi Tharoor B) =N U
(C) Hamid Ansari (C) 2w W=
(D) Bipan Chandra (D) Reotoe

39. Ifday after tomorrow is Saturday, what day 39, SiefiviER Amg 9 3 e =, 9@

was 3-days before yesterday? shodiceTa 3 st 2 = e
(A) Monday (A) G ;‘E' E.
(B) Sunday G RE] %
(C) Tuesday ® E' '” =
(D) Wednesday (©) e
D) g

40. Which one of the following isa tributary of
the Brahmaputra River?

40. TG TR 6 BoR =

¥R RSO HREGOARDIS AR QDL IV LOO22ZODZ20DDDL0FR KSR ERDTDEEN

(A) Ghaggar EI E (A) WA QeI N
(B) Mahi Al ®) R
(C) Kosi [=] (©)
(D) Manas ©) e
[l &[]
7
] &
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41. ¥40% of P=0-750f Q= 1 of R, thenfind *  41. I P-9% 40% = Q-9 075 =R-9F 1 =,

the value of P: Q : R. 4 W@ P : Q : R47 W e T | 4
(A) 15:7:25 (A) 15:7:25 [l 1=]
(B) 3:26:28 B) 3:26:28 ‘Iqil ¥
©) 16:8:5 (C) 16:8:5
(D) 15:8:24 D) 15:8:24

42. Which country hosted the Asian Svurfing 42, IR AR o 2023 @R @

Championship 20237 . SIS e ?
(A). Indiar E #E' ” (A) ©IFe
(B) Maldives ’
(C) Mauritius ®) mﬁ “9{
(D) Bangladesh ©) 3E .
(D) QT

43. By reducing the selling price of a

43, «IH> RIS RFAET 2,000 B 0
book-shelf by ¥ 2,000, a gain of 10% turns into a

e 10% oited WM 10% FO 2| BE

loss of 10%. Find the origi i i )

b bt ginal selling price of the ORI E s WW?
(A) ¥ 10,000 (A) 10,000 Bis
(8) T 11,000 (B) 11,000 Bl
(C) T12,000 (©) 12,0005t
D) ¥9,000 ®) 9,000 it

44. Whatisthe theme of ‘ Ayurveda Day 2023°?
(A) -Ayurveda for One Health

44, S 1 2023' <07 B Ty
(A) G TR G WYER

® it GEET i
(©) Ayurveda Amrit Kaal (©) TP TR
(D) AR =[® Fe

45. When a bus starts suddenly, the passengers
are pushed back. This is an example of which of’
the following?

45, 47 G IT GF WA OrHHS =TT
(UTF TR TS ©F J(H, 9 Fig O At
Y061 Ty Pied fars =t | % o Rt

%
AXEDSORRDORXESTER X DDLUV LGODODOEOORTTVRRDTDT AR RELOHERTD HR

(A) Newton’s First Law
(8) Newton’s Second Law w%’?ﬁq?. o 4]
(C) Newton's Third Law ® f ) ﬁ_@lﬂﬁa H%
(D) Botti (B) and (©) SBGTH ROT 7 [=]
(C) TREor= woH ¥
(D) (B) «=k (C) Tewy
B 5 Please Turn Over
Dfys
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46. Which country haslaunched the Nationwide
Mass Drug Administration (MDA) Initiative for

B

e

Lymphatic Filariasis?
(A) Sri Lanka
(B) Nepal
(C) India
(D) China

47, Barakar is a tributary of which River?
(A) Ajay
(B) Mayurakshi
(C) Damodar
(D) Kansabati

48. There are 5 students standing in a row.
Every stiudent has two more books than the student
infront of him/her, Then the tofal number of books
is

(A) always even.

(B) always odd.

(C) might be even or might be odd.
(D) neither even nor odd.

49, A sum of money amounts to ¥ 9,800 after
5 years and ¥ 12,005 after 8 years at the same rate
of simple interest. The rate of interest per annum
is
(A) 5%

®) 12%
(©) 8%
D) 15%

50. Three positive infegers x, y and z are
such that x+y+z is even. Then which one of the

following is not correct? [w]H[=]
(A) All of them may be odd,  Aw s

(B) All of them may be even.
(C) xand y may be odd and z is even.
(D) y and z may be odd and x is even.

SLD/23-A-4190117/08
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HEKGEGERAXSGOX XGOS EX DIHODSGBLOOLOODEBOLDDLED20D0D50 NN DO N NED D NEDD KR

TN 1o Gt ST NeE= (qfSa) Smist igg
JERR?

(A) Term

B) @=ite

©) =igs

(D) B

47, 39T W AT Bl e
(A) =
(B) AR
(€) WS
(D) TSt

48. 5 T 7Y 9= ifate HRw Wiz drew
BTG IS AN B (s 2 B s REW
Tz | OIREE AN IR A

(A) TR (=C|

®) g Reie |

(C) =iTa Zre +{itg, [Rraee 20s #iit|
®) @IE 93 Resis @it 1

49. G SLFT AR AE I ST
9,800 B ¥R, 8 I=H 12,005 Bil =W | AFARE
Wﬂ?@f 4=

(A) 5% A %
®B) 12% [x]

(C) 8%

(D) 15%

50, % S AR x, y GR z G &
x+y+z GO (@G TR | ozl WRRRe @b
Adw AT

(A) TTIF0 YR Rwte o =i |
(B) 1% IRANZ, (@G 2o A |
(C) x IR y Ree o | IR z =T
Sl
D) y IR z Re=ie o A@ 9 x &o
£




51. Gandhi Sagar Wildlife Sanctuary is famous
for

(A) Cheetah reintroduction project

(B) Lion reintroduction project

(C) Red Panda reintroduction project
(D) Black Panther reintroduction project

52. What does the Persian word shah mat /

checkmate meaii?
[m]H =]
b el
[x]

(A) King is alone.
(B) King is hopeless.

53. Which of the following elements is not

found in human body?

(C) King needs help.
(D) King is dead.
(A) Copper

(B) Zinc

(C) Iodine

(D) Lead

54, Find out the odd one:
(A) Neil Armstrong
(B) Edmund Hillary 4
(€) Yuri Gagarin
(D) Sunita Williams

I
e

KRR AR ERGS XX DRIDODODD/PODBODDDORVDOODNVOTUOHRNRTOI MDD RRTIENENR

55. In a pond, the number of lotus becomes
double in the next day. If it takes 15 days to cover
half of the pond, then in how many days the entire
pond will be covered by lotus?

(A) 16 days
(B) 30 days
(C) 29 days
(D) None of the above

SLD/23-A-4190117/09

>
o

FEis  som

51, ofEEIeE U ereatEey (T i Rare—

(A) G SR oot Aearee wat ofReeaeH
2 |

B) Gt g Fice A or) jseaé
o4 |

(C) 9= SR @F At ATHy ol
AaeEn & |

D) A g JE Tt 3 T I
TEH O SHeATET o7 |

52, TR =% Wz 1@ | Sorh-aa W e
(A) TE @i E' E_l_
(B) el S "’El Z
(C) TSIT AT = '
(D). Sfe! S Coitet |

53, ABA @I TARFD TROR R I A 2
(A) o
(B) T
() wifes
D) HAt

54, Q@ Fsi@n W (s e f99). ¢
@, o 8 ¢
(A) Ve R
(B) «ovw Fad
(C) ZufF fisifs=
(D) et Tferm

55. G AR ANGET A A e e =
1 1 7% 15 T <53f e ©f =, eige Feie

Ty el TR A SR R @]
(A)y 16T AR
B) 30 = (w2
© 29%=

(D) BoAER @IIDE 7

Please Turn Over
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56. Two stations X and Y are 465 km distant,
A train starts from X towards ¥ at 10 am with
a speed of 65 km/hr. Another train leaves from
Y towards X at 11 am at a spéed of 35 km/hr.
Find the time when both the trains meet.

(A) 2 pm -
@B) 5pm ,.gEl EE
(©) 4pm

(D) 3pm

57. A student went to the school by cycle in
10 km/hr speed and returned back in 15 Jem/hr
speed. Whatis the average speed of the entire ride?

(A) 12'5 kin/hr
B) 14km/hr
{C) 12km/br
(D) 13-5 km/hr

58. 9-12 o 32452 u
@A) 11
(B) 8
© 9

®) 7

59, The Hindi film ‘Padman’ released in 2018
was inspired by the true life story of
(A) Amnachalam Muriganantham
(B) R.Balki
(C) Akshay Kumar
(D) Bindeshwar Pathak

60. Present population of a town is 2,00,000.
The population will increase by 10%in the 1styear
and 15% in the 2nd year. The population of the

»*

***@@**@%**@%** ﬂ‘%%&%%%%&6&%%@%6&0@%%6%%&QO@%&@**%@#*@%**%%**

A-10

56. 7 GBHH X 9K} Y99 739 465 i1 o
G FPTET 105 X (36T Yool 65 /2%t st
! O FI | A G A 11 511 ¥ e X
wfed 35 RER/9%! st Tiar o e | -5
o G e 2=

(A) 2pm
(B) 5pm
(©€) 4pm
(D) 3 pm

57. < we 10 Ry aeol ARG wifere
O G109, 1.5 TRt/ <8 el ey e | sv=epef

NGB T e T2 .

(A) 12:5 RRy/=% Iﬂ% .
(B). 14 i/t
() 127f/=%
(D) 13-5 Bf/a®t

7 1

g 5—-=7
9-3— 0 57

1
@A) 1
B) 8
©9
D) 7

58. l—tﬂ?l

59. 2018 701 I 2l B =R ““premr dF
P I PR WA SRS W
(A) reeifbeT JEPalIEs A
(B) =9, 3t L]
(©) = T
(D) R A

60, =f6 *iFae IS TRt 2,00,0001
SRl g U 2499 I 10% 9k Bow 3=
15% T 1R T2 703 9 T TR TI—

town after two years is ; |
(&) 2,53,000 i) iﬁi >30000
(®8) 3,50,000 [=! © -3’60,000
©) 3,00,000 ) 235,000
(D) 2,35,000 o
EIE
=1 6
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61. Where is-Vansd:;. National Park located? * 61, Siwl S0 SoRb @Um sRFe?
‘ (A) Ut Pradesh Y vemmm A
(B) Gujarat z B) e Adsas
(C) Rajasthan * e ]
‘ (D) Madhya Pradesh * ©=
5 (D) e
\ o
w *
62. Choose the greatest number among the ; 62. ﬁﬁﬁfﬁ%‘ﬂ&m@ﬁﬁmwﬂmﬂﬁ?ﬁaﬁm
following: 5 I o .
IR, 4 _ * 2
[(s+s) ] . [sxsxs]?,  [5+5+5]%, [(5'+5)2:| . [5x5x5]2,  [5+5+5]%,
|55 +55+53+57 , B r55,55455455
[ | ]22 IEI'EI"[5+5+5+5]22
@ [(+57] s 2 @ [(5+57]
. B) [5x5x5] 2 ' E S B) [_573-535'] 2
. .13 & .
© [5+5'+-5] o © [5+5+5]>
@) [55+55+55+55] . D) [55455455+55]
:
]
63. NASA launched the Lucy Spacecraft to g 63. NAS AT IR b1e] TR0 I NI
observe which celestial body? B g e Ao
Moo v
) A
: i)
(C) Asteroids @ )
(D) Meteors. i (C)f 5@‘1
pa (D) Tl
&
&
64. Which country is the ‘country of origin® of z 64, SRISHIEE SeifE oot @b
tackwondo? :
HE] o (A). cifsr
(A) Korea ,qEI E! @ B) B
® i R
(C). Japan : ©
(D) Philippines o (D) Refersiigs
@
*
65. “The Hombill Festival’ is celebrated in 5 65, ‘%Rl SR “Iife 2 (SFY® =) @R
which State? % Fiege
(A) Manipur * _ [=1:[=]
- * (A) Ao b :
(B) Atunachal Pradesh & : . ]
(C) Nagaland i ?é; TW .W [x]
(D) Mizoram * '
A Cx D) e
[=1 3 =] Please Turn Over
=45
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66. Which country hosted the 50th G7 summit
20247

(A) Japan ilEl E_
(B) Italy | ”%“
(C) USA

(D) Brazil

67. Twotaps A and B can fill a tank in 5 hours
and 20 hours respectively. If both the taps are open
then due to a leakage, it took 30 minutes more to
fill the tank. If the tank is full, how Iong will it take
for the leakage alone to empty the tank?

(A) 4% hours
(B) 9 hours
(C) 18 hours
(D): 36 hours

68. Which is the scientific instrumeit used to
measure atmospheric pressure?
(A) Galvanometer
{B) Fathometer
(C) Barometer
(D) Altimeter

69. Which of the. following metals was not
known by the Hatappans?
(A) Copper
{B) Iron
{C). Bronze
(D) Gold

70. Which country is considered the founding
member of FIFA?

(A) France EI E
(B) Belgium E’I X
(C)- Netherlands
(D) Switzerland

SLD/23-A-4190117/12

AXMDOXEDELAXRGIEX DSOS LIV LVDOSEHOTLTOODTETETHNKDT NN DT NN

»
B

66. (I (7T 508w Ry 7 LT 2024 SCAEH
Tt
(A) E=
(B) T
(C) =R
(D) =

67. A'e B 7B = i o B ofE e
YA 5 T @ 20 Tot AT #Aeat | Gwes By
Fa0S 30 TG 7w & test 1 IR il =fF Qi
Eick

(A) 4%9%! !,,EI ,,.%
(B) 9%t

(C) 18 %!

(D) 369%

68, TN Bie! IR (I g W e
(A) ereiRiR
(B). ThealEeE
() TifoE
(D) wF5RbE

69. FafiRe agefm o @why g9
TR e Al e ;

[=]:4 =]
(A) ot A8
®) @R (1]
(©) @ig
® A

70. PR R divdioies R st
Faf e
(A) =
(B) (@R
(C) Fwizenes
D) REHS
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71. If the L.C.M. and H.C.F. of two 2-digit : 71, MO 2 AT WY xR T AL, G

numbers x and y are 36 and 6 respectively and *. 0. TYEE 36 9 67T, GR x< y T, GiRE
x<y,thenx:yis

X1y
H o2 2
©) 3:5 ® 1:2 [x] U:
e ©) 3:5 .

72. Who was the first Indian womnian gymnast 72. AT o (IS SRl A dY e

to qualify for the Olympics? GF E e e o
(A) Jhulan Goswami A & (A) I It
{B) Dipa Karmakar [s] B) Rl T
(C) Mithali Raj © fos ae
(D) Geeta Phogat (b) Sret C{a‘tﬁﬂﬁ

73. Who has been re-elected as the Speaker of 73. 1899 @R ool (W) IR &

the 18th Lok Sabha? S T
(A) Jagdeep Dhankar &) oo €
(B) Om Birla -
(C) Harivansh Narayan Singh @) < Rt
(D) Sumitra Mahajan (C) Teaes e B
(D) Rl =

74. What is the converted speed of 2% m/s in 74, 2~ﬁ%Wcm=w s /T8

LA R R-ER R R R a-&%a@mm&aaa@%@@aaa@@aa%@aaa@@aaﬁ*@@**@@a&*@@

km/hr.? ﬂﬁﬁﬁE‘ﬂr_ﬁﬁW?
(A) 6Xkm/hr Lil E’: (A) 6 Rfifamr
(B) 12 km/hr E]% ®) 12 5R/%
(C) 8 kmihr (©). 8 /2%t
(D) 10 km/hr (D) 10 /=5t
es;i.ﬁs (lfllégc_ll;en’s Film Society of India was 75. BergT few FITRE o 3t 2R
&) 1955 (A) 1955 it El;ﬂEl
B) 1956 @) 1956%
(C) 1990 (C) 1990 A
(D) 1959 D) 1959 RE=
[=] EI Please Tarn Over
=2
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76. What is the least positive integer to be
added with 8270, so that it will be divisible by 16?7

(a) 2
@) 4
(©) 8
©) 6

77. A merchant buys two kinds of coffee, one
at the rate of ¥ 8,000 per quintal and another at
the rate of ¥ 10,000 per quintal. He mixed them
in a proportion of 10:6 respectively. If he wants
to have a profit of 20% on the whole transaction,
then at what price per quintal he must sell the

mixture of the coffee?
(A) ¥10,500
@) ¥3,500
(©) ¥9,500
D) ¥10,200

78. The market price of a bicycle is ¥ 4,000.
While selling the bicycle if two successive
discounts of 20% and 10% are allowed, then the

customer will save forit
(A) ¥ 800
B) ¥T320
(©) T 1,120
D) T480

79. Which one of the following rulers built the
Rathas Mandir of Mahabalipuram?

(A) Pulkeshin Second
(B) Rajendra Chola

(C) Narasingha Barman Second

(D) Rajaraja

SLD/23-A-4190117/14
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(]

RAEEDTDEMSTRFDOREDLSDSODOOODOERDODOLSORERORROUDERTDTRRT DT REDT DN

76. 8270-43 AR FEF @F TS Rt

st TR0 G 16 vt Betwm 1@

(A) 2
@) 4
© 8
D) 6

77. 93 G {-4FT S AP

8,000 5t 8 10,000 Bt T2V WA T I
10:6 Srgetits fRIs waeam | 7 ol s Tsix
20% 1S FCIH, ©F 92 RS <% v bl 3261

W few st EHE
(A) 10,500 Bt Ao
(B) 3,500 i
(© 9,500 5t
(D) 10,2005

78. 3T ARLHER LT 4,000 B} | ARG

R S 7T AR R INFH 20% € 10% =S

(A) 800 Bt %@
(B) 3205 [=]

(©) 1,120 5t

(D) 480 B

79, FEERe @F P RRFEeR 39

[EIHE & ffie i
(B) €itEe (ieT
(C) TS bz T
(D) =T
[=] % [=]
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80. The population of a city is 6000 and %m
of the population is male and rest of them are
female. If the 30% of the males are married, then
the percentage of married females in the city is

(A) 10%
(B) 15%
(C) 25%
D) 35%

81. X is twice as good as ¥ and together they
complete a piece of work in 20 days. In how many

days will X alone finish the work?
(A) 22 days E'ﬂE
(B) 30 days Hgﬁzt:
(C) 35 days
(D) 40 days

82. A man decided to cover a distance of 6 km
in 84 minutes. He decided to cover Zrd of the

*

e W W Tr D WM T TN WD MR a@a@z&@aaa@@aoaa@m@@a%@aaa%&a&**e&%**@@**@@#*

s s

80. aasﬁwmﬁ?wam 6000 €I GG
WW—WM?FE qifdrat sifzett | 3 sjwes

30% R}iRe o, e wesa RaifRe e wg—
(A) 10% F4E
@) 15% AR
©) 25%
(D) 35%

81. X, Y-q9 Taad v @) of gAML it ter
20 Fw o 0 | FOTE X @l GiE e o
FIA?

(A) 22T
(B) 304w
(C) 35f=
(D) 407

82, @ﬁ}@%ﬁﬁf@ﬁﬁﬁmmw
ﬁ'ﬂ;@ﬁw %ﬁ@w et 4 FRRfSY/ %1 et

distance at 4 km/hr and the remmmng at some 3 SRS S GTr_ﬁﬁ Ieq Fare e |
different speed. Find the speed after the —rd 3 WWWW@?{@WW st e |
distance has been covered. (A) 45 Rt/
(A) 45 km/hr dlil E‘I‘: ®) 5 R/
B) 5 km/hr ] (C) 55 Rl
(D} 6 km/hr
83. The concept of Fire Temples is related to 83. Sf-sfra e ity e e ]
(A) Hinduism (A) &m wifirs AEﬁE
(B) Judaism B) 2l afirs Eﬁ:‘%
(C) Tainism (©) o wfirs
(D) Zoroastrianism D) wyBw e
[=1 B[] Please Turn Over
&k
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84. The pH value of human bleod is

(A) 74 _

®) 83 EH[=]
©) 68 E'II X
®) 7

85. Which of the following states does nothave
Veto power in the U.N. Security Council?

(A) United States of America
(B) United Kingdom

(C) Canada

(D) France

86. Fullform of PETA, anorganisation working
against the abusive treatment of animals is
(A) People, Environment and Treating
Animals
(B) People for the Ethical Treatment of
Animals
(C) People for Environment and
Treatiment of Animals

(D} Panelfor Environment and Treatment
of Animals

87, Inone hour, a boat goes 11 km/hr along the
stream and 5 km/hr against the stream. The speed
of the boat in still water (in kimn/hr) is

(A) 3 km/hr
B) 5 km/hr
(C) 8 km/hr
D) 9 km/hr

88. Who gave the equations of motion for the
first time?

EEEGDTARXDOT XS ORARDIDIJ[HOOOLLSLD0RBLEDOLBO00H50DH KD NS NEDD KKK

A-16

84. WY F0&T (1925 (PH)-4 W =
(A) 74
(©) 68
®) 7

(ST! HS! (AR 2

(A) SR TR IP%

(B) T&E =]

(©) wret .
D) T

86, PETA~F *}i(iel, <l roiow @b “towra

(A) W, A G Bl =1 28
B) vowm tfes PReetm o @

(€) = gk &ifivrs BReim oy TR
D) &Rt i o BReea & bt

87. 9% WTE @FB (TF E@ST WFHA
11 /et et @R @iced 2fegeE 5 i/t

@A A | R o el sifeeaat (Rfy/e%t-a) ==
@A) 3 Ref/=5t =] [=]
®) s R/ ot ‘-
(C) 8 Rl =it
(D) 9 R/ '

88. Pl Rsalel w2 sfoeas T IERE 2

(A) Bernhard Nobel Ei.'l = (A) RS EIE
(B) Issac Newton ol =3 B) a 2EiE AR
(C) C.V.Raman (C) M. 2=
() Einstein D) SR

[=] 5 =]

[=] 5
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89. ‘Kalamkari’ painting refers to

(A) ‘ahand-painted cotton textileinS outh
India. o

(B) a handmade drawing on bamboo
handicrafts in North-East India.

(C) a block-painted woolen cloth in
‘Western Himalayan region of India,

(D) a hand-painted decorative silk cloth
in North-Westérn Iridia,

90. Which country’s Armed Forces have
recently been honoured with the Golden
Owl Award for outstanding performance?

(A) China =14 =]
(B) SriLanka d &
(O Singapore E

(D) India

91. Who won the International Booker Prize
20247
(A) Ms. Jenny Erpenbeck
(B) Margaret Atwood
(C) Toni Morrison
(D) J. K. Rowling.

92. The SIunitof the work function of a metal
used in the photoelectric effect is

(A). Toule (1) c; E,j
i (B) Newton (N} E :

(C) Pascal (Pa)

(D) Hertz (H2)

93. Whofounded the Asiatic Society of Bengal?
(A) Bankim Chandra Chatterjee
(B) Madhusudan Dutta
(C) Charles Wilkins
(D) Sir Williain Jones,

SLD/23-A-4190117/17
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L=

FE s

89. ‘Tl Baeet =
(A) W SIaTed Qe S e |
(B) Te-v{ etars Jevw Fiews TeEET
@9{F ZjTe i I |
(©) Ao Rt e aeela i T
o 339 e g
(D) Tea-=ifow wrTes (I I Tofd

E =

90. @ (R g qRA TS SpitiEd
(A) B
B) et
(C) Pt
D) SiFe

91. (T T P 2T 2024 FIS IR ?
(A) P alf et
@B) wfiEs Goe
(©) B wfeem
D) @. 6@ ABFR

92. b AEreibe fEFar sl IIge 49l
I AT PI(E, G 7

A)

@) FTA
(C) =Pt
D) o

93. @ «FRifhs EIRDG o @ afodi FEe

(A) IO BLEIIGE Y
(B) o S d%%
(C) v Bemhe [x]
(D) 513 B cam

E Please Turn Over
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94, The ratio of the present ages of father,
mother and their sonis 6: 5 : 1. When the son will
attain the present age of his father, at that time the
sum of their ages will be 135 years. Find the

present age of the mother. [E1:4=]
(A) 30 years }[%
(B) 36 years
(C) 25 years

(D) 35 years

95. The average of 10 numbers is 20. If each
number is increased by 5, then what is the new
average?

(A) 24
B) 20
© 30
D) 25

96. Which one has not been elected as
non-pérmanent member of the UN Security
Council for the 2025-2026 term?

(A) Pakistan
(B) Somalia
(C) Denmark
(D) SriLanka

97. Thereare 62 questionsinatest. Each correct
answer giyes 2 mz_i_rks= and for each wrong answer
1 markis deducted. Ramen scored 34 marks and he
attempted all questions. Find the numbér of
questions Ramen answered correctly.

(A) 34
(B) 28
©) 33
D) 32

98. Amindivi Islands in India are best known
for which of the following? L
(A) Coral Atolls / Reefs []:H [
(B) Abyssal Fans "'m %
(C) Seamounts '
(D) Estuaries.

SLD/23-A-4190117/18

HERGOURKDTIR XSO RNK DB ODJQOLDIJOVOLDIVDTORRODOTEENDTDIREDTDREDTD RN

A-18

94. Torel, WSl © <Eg TSI IR A
6:5: 1194 7[gad 339 Pieie ST IR AW

B(F O SN o e e 0eT TS <[ 135 =7 |

(A) 309=g
®B) 36 TF
© 2573
(D) 353=d

95. 107 AT siw 2 20 | ef sl A s sT@
e ~it, ofegeT g 5ig o
(A) 24
(B). 20
© 30
(D) 25

96. @I G 2025-2026 3 TREEE G
e wifesem, FRve «figomm sl T

(A) s

@) cmnfm
(C) &
D) Eerat

97. ol =Tt G 6216 ot e | ool Ao
1 59 301 21 7o Aol 2mis Ten i o
34 T CoitafRR | ToW FouR w Hie Gew
ot ot el 1
A) 34 ] H[=
* A
@) 28 ]
© 33
D) 32

98, wiren SRR Wiy T @RbT &0

(A) eRIEEBR / 2b
B) w195 ©&

(©) Fwies

(D) ==t
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99. The root of “Yoga’ is found in a hymn of
which of the following Vedas? Rt
(A) Rig Veda . )
(B) Atharvaveda HE E
(C) Yazjurveda E
(D) Samveda

100. 20 mencancompleteajobin 10 days. After
5 days 20 more men join the group. Then, how

SoDRLLDIENRDO DD END DR

B s

99. ‘@I-qq & WbF (P ([ (N0 M6

v BB
(B) w{caw ]2
(©) TgHH

(D) TR

100. 20 & ENF @26 Fier 10 T 7o Fa0e
A | 5 T Aoz Sims 20 o @ e et fE |

many total days are needed fo complete the entire
ob? WW‘faw;miﬁmfﬂwﬁﬂwm?
(A) 75 days [EHE A) 7 %_4
(B) 8 days JEI L ®B) 8 E'I [=]
(C) 85 days (C)y 85fm .l'lEI o
(D) 6 days R
- &

154

4]

9
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=

o

B
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o

e

-1
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NOT OPEN BOOKLET UNTIL YQU ARE ASKED TO D
2023
TEST BOOKLET TEST BOOKLET SERIES
English, General Studies and Arithmetics
Time allowed: 13 hours
Full marks : 100

Answer all the questions.

Questions are of equal value.

Serial No. ..4190118...... Roll No.:

! Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to varous items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question, Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

. 5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as 2 wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each answer.
| 7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination. :
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1. Identify the complex sentence from the * 6. The plural form of ‘hypothesis’ is
options below: = (A) Hypotheses P =

(A) He went to his father’s native place. @) Hypothysis A=
(B) He succeeded although his success (C) Hypothises E -]
was not expected. : Hvoothesis x
(C) He was a mere boy but he offered to (D) Hypo
fight the giant.
(D) He must have done his duty for he is 7. Complete the idiomatic expression.
a conscientious man. Birds of the same feather together,
[=]28[w]
2 A) fly
[=] (B) chirp
2. Fill in the blank: (©) flock
A of lions, (D) sing
(A) herd
(B) group 8. Choose the correct plural form:
(C) pride (A) Daughter-in-law
(D) pack (B) Daughters-in-law

(C) Daughter-in-laws
(D) Daughters-in-laws

3. Identify the correctly spelt word:

(A) Conotation 9. Cartography is the study of

(B) Conottation (A) Carts [=]¥][=j
(C) Connotasion (B) Maps [§] =
(D)} Connotation (C) Graphic Art

(D) Cartoons

10. Identifytheclauseinthefollowing sentence:
Neha played when evening came,

4, That is a fault that will right itself.
The underlined word las been used as a/an

(A) Adverb (A) Neha played

B) Verb [=]2 _LE_! (B) Played when evening
(C) Noun E X (C) When evening came
(D) Adjective (D) Evening came

11, Fillintheblank with the correct preposition:

ARG OREXDOERXGOX X DB/ OOV Q2URIVIQLSDOODBODTRODDDTRHRDOEREDG DD T RN

5. An animal that feeds on plants is called We’vebeen working this morning,
(A) Carnivorous (A) in
(B) Herbivorous (B) at
(C) Insectivorous (C) since
(D) Omnivorous D) on
[3] 5[]
DAL
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12, Choose the correct word to complete the
following sentence:
My research focuses on the half
of the eighteenth century.
(A) later (=] 3[x]
B) latter g =
(C) late

(D) lateness

13. ‘Red-hot’ isacompound word that is formed

by

(A) Noun and Noun

(B) Adjective and Adjective
(C) Noun and Gerund

(D) Adjective and Verb

14, The making of the plan is in hand— Here
‘making’ is afan

(A) Noun
(B) Infinitive
(C) Adjective
(D) Gerund

15. Select the correct phrasal verb for the
underlined word in the sentence:

She did not appear for the interview on

w
%

XXEDORESTOIREDOFXDSB/ODDLDDDODD DOV DHBRODODERFCE RTINS T NS

time.
(A) tum out
(B) turn up [=: =]
e L
(C) turn upon o .-és
(D) turn in
16. The atmy the troubled places
as curfew remained in force.
Choose the correct option:
(A) moved
(B) walked
(C) patrolled
(D) ran
(=]

SLD/23-B-4190118/03
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17. What is the synonym of Lurk?

(A) Lean
(B) Hide
(C) Play
(D) Guide

18, What does the word Verisimilitude mean?

(A) Truth oD
(B) Similar L
(C) Verified [:
(D) Familiar

19. One of my friends vigiting me this

summer, Choose the correct option:

(A) are

(B) willbe
(C) are being
D) will

20. Identify the type of the underlined noun:

Wisdom is always better than strength.
(A) Collective

(B) Common

(C) Material

(D) Abstract
=14
IR

21. Convert the following direct speech to
indirect speech:

He said, “I have passed the examination.”
(A) He said ] am passed the examination.

(B) He said that he had passed the
examination.

(C) He said that I passed the examination,
(D) He has passed.

Please Turn Over
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22. The antonym of the word Gruelling is 27. OurSirteaches Mathematics English
(A) Cunning Choose the correct option: . __
(B) Easy (A) across [=]: E
. 5
(C) Motivating (B) beside [
(D) Dampening (C) besides
(D) over

*
*
*
£
L
*
*
&
g
»
>
=
&
»
*
B
@
G
o
o
B
&
L
<]
G
@
g
@
G
%
&
=4
@
&
-
L2
G
B
G
G
52
g
G
»*
*
@
B
*
*
o
@
*
*
3
3
>
*
*

23. What is the noun form of ‘Restrict’?

(A) Restricted =] [=]
(B) Restricting 'ﬂ%
(C) Restriction EP‘
(D) Restrictive

24. A word that is spelt or pronounced like
another word but have completely different
meaning is known as a/an

(A) Homonym
(B) Synonym
(C) Antonym

(D) Paronym

25. Select the correct form of the simple
sentence for the compound sentence mentioned
below:

He was not confident, but he appeared for
the interview.

(A) In spite of not being confident he
appeared for the interview.

(B) In spite of lacking in confidence he
appeared for the interview.

(C) Both (A) and (B}

(D) He appeared for the interview though
he was not confident.

26, Formacorrect and meaningful sentence by

rearranging the following: {ur] 5 [}
(@) Tosell ) %
(b) A gentleman =

(c) Who wishes to go abroad
(d) Has a dog

(A) (), @), (c), (@

(B) (a), (b), (d), (c)

©) ), (), (@), (@

D) (), (@), (d), (¢}

772
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28. Who is an atheist?

{A) One who belives in the existence of
God.

(B) One who is confused about the
existence of God.

(C) One who does not believe in the
existence of God.,

(D) One who is a follower of aesthetic

principles. Of E
- =
EI.%

29, Whatis the negative form of the following
sentence?

Alfred was the best king that ever reigned
in England.
(A) No other king as good as Alfred evér
reigned in England.
(B) Alfred remains peerless as a king in
England. -
(C) Alfred was not the best king that ever
reigned in England.
(D) None of the above

30. What is the antonym of Conform?

(i) Rebel
(i) Hide
(iif) Conflict
(@iv) Trust

(A) Both (i) and (iif)

(B) Only (ii)

(C) Both (i) and (ii)

(D) Only (jii)
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31. Two stations X and Y are 465 km distant, * 31. B GO X ¢ Y~49 73T 465 Rl | gof6
A train starts from X towar_dsi Y__f"E 10 am mth * (G e 1031:;;(@@1@%;1@ 65 BR/9% et
a speed of 65 km/hr. Another train leaves from g o e gy WG & 7ol 1150 ¥ R X

Y towaids X at 11 am at a speed of 35 km/hr. @
Find the time when both the trains meet. _ i IC[SSﬁﬁ/ﬂ"ﬁ@tﬂ'Wﬁ? P | B

(A) 2pm EAE : 0 & e s
s (A) 2pm
(B) 5pm iz
(©) 4pm (= o am
D) 3pm -) S p
(D) 3pm
32. Coinplete the series: 32, it IR e ¢ EAE
7,11,19,35,67,1 7,11, 19,35, 67,2 Ffte
) 99 (A) 99
(B) 134 B) 134
© 98 (C) 98
(D) 131 (D) 131

33. In which year NATO was formed? 3. I JuR ! side Al

@) 1947 ——
'(0(3:; 132 ®) 19497
®) 1960 (©) 19527

D) 19607

34. A merchant buys two kinds of coffee, one -
at the rate of T 8,000 per quintal and anothiér at
the rate of ¥ 10,000 per quintal. He mixed them
in a proportion of 10:6 respectively. If he wants
to have a profit of 20% on the whole transaction,

M. gvuq N q-d99 I IUFw
8,000 B 8. 10,000 B 2O WI T A
10:6 wtice ffEre waeem | af R @G Goim
20% =& e, Ot €% it <% oo b 330

then at what price per quintal he must sell -the e e v E E
mixture of the coffee? A= (A) 10,500 B [w] :
(A) 10,500 % (B) 3,500 B
@) T 3,500 [=] (C) 9,500 it
(€) 9,500 (D) 10,200 5
(D) ¥10,200

**#&@**@@**%%**a%%2'69%%@9%%&%%6%%@&&%&&6&&é@**&@**@@

[=]
L
=

v

Please Turn Over

SLD/23-B-4190118/05




o BEE w

*

39. Whatis the themeof ‘ Ayurveda Day 2023’?

(A) Ayurveda for One Health [m]; E
‘(B) Integrated Medicine ;

39, “sedie fiss 2023’97 R e
(A) o T O

(B) e &gy’

(©) Vasudaiva Kutumbakam Eﬁ; I

(D) Ayurveda Amrit Kaat L) AT THI
(D). S =S i

40. Who won the International Booker Prize
20247
(A) Ms. Jenny Erpenbeck

40, & SO T TH 2024 S TR L
A) Fp s gl

35. What is the converted speed of 22 mISm * 35 2 ﬁﬁa/m@ ﬂT‘WﬁtﬁTﬁ ﬁ*ﬁl/‘i“ﬁ‘ﬁ
i =, £ 3 - ,
kn/hr.? . ﬂﬁaﬁa-ﬁaﬂme  ER =
(A) 6kmthe i (A) ﬁﬁ;ﬁjﬂﬁ B (>
(B) 12 km/hr * B) 12 R/t
(©) 8 km/hr s (© & Ry
(D) 10 km/hr : M) 10 Feft/eBt
P
36. Which countty is considered the founding & 36, &R PIERres afs ey RoE R
‘member of FIFA? , * FaA e
(A) France EIEE X L a
(B) Belgium St o Q-
(C) Netherlands [=] z .(]_3) )
(D) Switzerland e (C). CRIFETA
B ©) @S
B
37. Barakaris a tributary of which River? ﬁ 37. AT T T Soi
(A) Ajay o (A) &ET
(B) Mayurakshi o gt
(C) Damodat g ?3 i
(D) Kansdbati o B
& (D) T8
e )
38. The Hindi film ‘Padman’ releasedin 2018 & 38, 2018 7ics1 I aie} B o< ey 1
was mspgcd by the tr\ue:hfastory of’ g m-@—@mﬂwmw
(A) Arunaqhalam Muruganantham o (A) STPe5oR FPoliviEs
®) R. Balld b @) o IR EJ
Oumim 1 G
(D) Bindeshwar Path: z ) 7 S
&
B
]
*
x
P
@
*
*
3]
]
»
* .

(B) Margaret Atwood g (B) ;’Iﬁﬁﬁ@? 4HTT

{C) Toni Motrison * (C) O e ‘

(D) 1.K. Rowling x (D): (% GF. FBER

ElﬁEl
o
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41. If day after tomorrow is Saturday, whatday

was 3 days before yesterday?
e [m]8[=]
(A) quday o
(B) Sunday E?—.ﬁ-ﬂ
(C) Tuesday
(D) Wednesday

42, Which of the following states does nothave
Veto power in the U.N. Security Council?
(A) United States of America
(B) United Kingdom
(C) Canada
(D) France

43, Which is the scientific instrument used ta
measure atmospheric pressure?

(A) Galvanometer
(B) Fathometer
(C) Barometer
(D) Altimeter

44. Amindivi Islands in India are best known
for which of the following?

(A) Coral Atolls / Reefs [= E;l,
(B) Abyssal Fans [ 5
(C) Seamounts

(D) Estuaries

45, Who wrote the book “An Era of Darkness
: The British Empire in India”?
(A) Amlesh Tripathi
(B) Shashi Thatoor
(C) Hamid Ansari
(D) Bipan Chandra

¥
a

RERDOAEDTOTEXGEERXRDISGOOTI{OS2OSGDTSOVDDDITOHODTOTRRDOEENEDTERND D RNk

[l
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41, SNeIEE Awg e I R T, oK
TSR 3 T wieel B 3 2= e

(A) G
B) TR
(C) Vo=
D) T[=

42, FEERe R AT SifeRE Rater-ifsam
(01 TSl R ? [=] (=l
(A) IR Toals 5‘%
(B) J&FaEy
(C) T
(D) ¥

43. AYNSTTI B WA (NS eI A 2
(A) BTSRRI
(B) WrkER
(C) TRfBE
W REIERE

4. oiFred SRS Qo7 ToT @RD w0
TREE @ R

(A) #3i=alibia / Afie
(B) 5H ©F

(C) TS

(D) Gzt

45. “An Era of Darkness : The British Empire

in India” <&f6 (% ecafRe k)0
(A) e fst W%‘g
B) N <eea =
(C) W =
(D) oo

Please Turn Over
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46. If the L.C.M. and H.C.F. of two 2-digit
numbers x and y are 36 and 6 respectively .and

x<y,thenx:yis
(A) 2:3
®B)1:2
C 3:5
D) 4:5

47. The root of “Yoga’ is found in a hymn of

which of the following Vedas? E =
(A) Rig Veda &
(B) Atharvaveda E
(C) Yajurveda
(D) Samveda

48. Which country is the ‘country of origin’ of
tagkwondo?
(A) Korea
(B) China
(C) Japan
(D) Philippines

49. Under which Article of the Constitution
is the President’s rule promulgated in any state
in India?

(A) 326 [=] 3 [=]
(B) 370 o
(C) 352 (]

(D) 356

50. In a pond, the number of lotus becomes
double in the next day. If it takes 15 days to cover

¥

HRXRGOGRERDGOR XSGR RX OJ[TDOSEDDIHOQDRDPERODTOTOODD TN DN NT D WA D NN

46, TG0 2 ST AT x IR y-9F AALD. O
AL, IYGFE 36 9R 6T, GR x< y T, OIFE

Xy &
(4) 2:3 fr] )]
B)1:2 ]
©) 3:5 =]
(D) 4:5

47, ‘QV-a9 =1 NG (FR @O0F oG e

e

(A) TR
B) S
(©) T
D) T

48, SRFHCTa Tesifs o @b e

(A) i

®) B DI
() st ]

(D) Refersifem

49. ST AT @I 47 g =
SIEANST G (I ey | A I
(A) 326
@) 370
(©) 352
D) 356

50, qﬁmﬂwﬁwwmﬁﬂﬁ@m
T 13 15 T <4354 ook ©FE =1, o Fefie

R
(A) 16 days A) 16T
(B) 30days ®) Soﬁ‘nr
(C) 29 days (©€) 29T
(D) None of the above (D) THAET IR T
&Y
[OP3L
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51. The population of a city is 6000 and 7 th
of the population is male and rest of them are

ESE oo

51. <35 =g @ TR 6000 a3k @

SR g e 4, A TR | A o

female. If the 30% of the males are married, then 30% [RRiRe 27, o1 wesq! RaiRe wfEaE 5 ragi—
the percentage of married females in the city is (A) 10%

(A) 10% A& ®B) 15%

B) 15% G (©) 25%

(C) 25% [=] D) 35%

(D) 35%

52. X is twice as good as Y and together they
complete a piece of work in 20 days. In how many

52, X, Y99 qod wE g3 O] A G0 FIE

20 e =2l =01 | TR X 93t GIR, lefs oix

days will X alone finish the work? FE? ESE
(&) 22 days &) 225 Farr,
(B) 30 days @) 0% E:-
(C) 35 days _
(D) 40 days (© 35%=
D) 40 i

53. Whofounded the Asiatic Society of Bengal?
(A) Bankim Chandra Chattegjee
(B) Madhusudan Dutta
(C) Charles Wilkins
(D) Sir William Jones

54. What is the least positive integer to be

53. & 9Pt el o (7o fobl v
(A) IR SISO
B) AP e
(C) Bl B
(D) 0= T @

54, 8270-9% AN WY @ FEE A

added with 8270, sothat it will be divisible by 16? @ist TAE G 169! e o1
s L (®) 2
®) 4 W-% B) 4
© 8 [u] (©) 8
®) 6 ®) 6

55, The pH value of human blood is
(A) 74
(B) 83
©) 68
o) 7

HHEDDHRSOA RS ER X VDT BODDLRROLLRVDOBD OO0 TN DN DL N KD DN

HzE
=
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55. Wiq e (125 (pH)-aF W &
(A) 74

®) 83 10
(C) 68 E
M) 7
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56. What does the Persian word shah mat /| * 56, T = /7 9T/ (GImo-aq =L 2
checkmate mean? (A) T G|

(A) King is alone. _ EAE]
(B) King is hopeless, ° (B)_ WWI o
(C) King needs help. (C) A& AT 7 =]

(D) King is dead. (D) =t IR A |

57. When a bus starts suddenly, the passengers
are pushed back. This is an example of which of

57. 94 @JB I 9T WA AOrFITS S
(AT I BACS BF E, OUF GiR AFE A=

the following? ! .
(A) Newton’s First Law [ ..LE;! E{égﬁwﬁﬁm@ﬁwmﬁmh@ﬁﬁ
(B) Newton's Second Law [=]; i (A)E' e
(C) Newton’s Third Law ® RGBT ﬁ@;i%
(D) Both (B) and (C) o FeGG “: oy

(D) (B) R (C) Tewg

58. Which country’s Armed Forces have
recently been honoured with the Golden
Owl Award for outstanding performance?

58. (N GO R AReA AAS S
AT & (ST ST i g R e

(A) China. A 21%1 EFE
(B) Sri Lanka ®) %
(C) Singapore © ﬁ?ﬂﬁ E]

| (D) India (D) ©ig®

59. Choose the greatest number among the

59, RS HRUIFRE g e HeiH Rdfen

following: ) BF

[(+57 ], [sxsxs]?,  [s+5+5]°, [(5+s)2]2,_ [sx5x5]2, [545+5]°,
ssessassis] AR & [50155s5055] |

@ [(6+57] = @ [6+3)]

(B) [5:»:5)(5]2
(© [5+5+5]°
D) [55+55+55+55)

B [5x5x5]2

© [5+5+5]°

(D) [55+55+55+55]

ERE \
=

EREDOH A BXSOAX XSGOSR X D ISP LJDSL2ATHIVUTDLOORDDOEXDO DT T RN N

SLD/23-B-4190118/10




60. There are 5 students standing in a row.
Every student has two more books than the student
infront of him/her. Then the total number of books

(A) always even.

is Egﬁ]
(B). always odd. El

(C) might be even or might be odd.
(D) neither even nor odd.

61. Three positive integers x, y and z are
such that x+y+z is even. Then which one of the
following is niot correct?

(A) All of them may be odd.

(B) All of them may be even.

(C) xand y may be odd and 7 is even,
(D) yandz may beodd and x is even.

62. Two'taps A and B can fill a tank in 5 hours
and 20 hours respectively. If both the taps are open
then due to a leakage, it took 30 minufes more to
fill the tank. If the tank is full, how long will it take
for the leakage alone to empty the tank?

(A) 434 hours

(B). 9hours E @.
(C) 18 hours, E
(D) 36 hours '

63, The market price of a bicycle is ¥ 4,000.
While selling the bicycle if two successive
discounts of 20% and 10%. are allowed, then the
customer will save for it

(A) T800
(B) €320
(©) 1,120
(D) T480

SLD/23-B-4190118/11

[=]34 [=]
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HAERXSGHHESD ARSI R RO OO OLOIDROREDTETRRDT D WD DR

%ﬂ

B swe

60. 5= B @ Hifire WRE wiz! s
QR PR O AT Qafee (4 2 6w R
HiTe, | ST TG IRES At

(A) PR (T

B) R e

(C) (=P8 T e, Rwivs 2o =i |
(D) e 4R Reae @b

61, R0 (TSR SFRG x, y R 7z BH @
xy+z GO0 (@FE WA OigE FaERS @0
3T e

(A) 73 iR Rrene e A

(B) 71336 AHYTE =% 20w ANE |

(©) x 4R y =T 2o T 9K z (&G
TRYH

D) y 9% z R@AT T© AW @R x (&G
R E#E

; (]
[] a8

62. A6 B 5 = i <o Biiets of% Tare
AT 5 B @ 20 T WA A | Tyiwfee Ry
YR T UG 91 G A S GE ©fS
Face 30 G wr @ =iest | I origh ©fF Ui,
A

(A) 4 %%
(B) 9wt

(C) 18
(D) 36Tt

63, B IRCEFETH ARETET 4,000 510 | 2=
R PACTR TA RTIUEE 20% '€ 10% 2
e ceeta A

(A) 800 B! o E-!
@) 32051 ]

© 1,120%=

(D) 480 5t

Please Turn Over
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64, Inone hour, a boat goes 11 kan/hr along the
stream and 5 km/hr against the stream. The speed
of the boat in still water {(in km/hr) is

(A) 3 km/hr
(B) 5 km/hr
(C) 8 km/hr
(D) 9kmihr

65. Simon and Anik save 25% and 40% of their
respective incomes. If theirexpenditures are equal,
then find the ratio of the incomes of Simon and
Anik.

(A) 4:5
®) 3:4
(C)5:6
D) 6:5

66. Which of the: following metals was not
known by the Harappans?
(A) Copper
(B) Iron
{C) Bronze
(D) Gold

67. Find out the odd one:
(A) Neil Armstrong
(B) Edmund Hillary
(C) Yuri Gagarin
(D) Sunita Williams

68. Who was the first Indian woman gymnast
to qualify for the Olympics?
(A) Jhulan Goswami

H¥ERSORFDEERDOAXOODOLDODOOODOGVOOVVNRRDVLDODRRDTDTRRDTDTREDTE RN

64. € 9B GIH TF @ENST I

11 Refi/=%! qat o @R effog s B/t
@t A | B e (el e ffewe (R aB-a) =
(A) 3R/t s
®) 5 Rl EI E‘!
©) 8 Rl 1
(D) 9 Rf/=%

65. P @32 SIS Ot s T 25% @
40% % 0 | TR S0 495 N LCE, o B
8 S ST Solie 6 of [Nefa T |

(A) 4:5
@) 3:4
©) 5:6
M) 6:5

66, FERiRe qgelm o Ry T
ZRAHRAR GiHTeA A2

(A) it

®) G ] [}
(€) g X
(D) G =

67. @i A T (AT (i +f2%) ¢
(A) el wrER
B) owe R
(C) TR smatRe
(D) el T=femtm

68. SEPARIEU @S SR HU e
wize e e

(B) Dipa Karmakar (A) I CArEst
(C) Mithali Raj (B) Wit et
(D) Geeta Phogat (C) Fret aiw
(D) et s
EYE
T
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69. ‘The Hornbill Festival’ is celebrated in
which State?

(A) Manipur EI ,...Eé
(B) Arunachal Pradesh [

(C) Nagaland

(D) Mizoram

70. Which of the following elements is not
found in human body?

(A) Copper
®B) Zinc
(C) Iodine
(D) Lead

71. Which country hosted the Asian Surfing
Championship 26237
(A) India
(B) Maldives
(C) Mauritius
(D) Bangladesh

72. A student went to the school by cycle in
10 km/hr speed and returned back in 15 km/hr
speed. Whatis the average speed of the entire ride?

(A) 12-5 km/hr
o B
(C) 12 km/hr Ol
(D) 135 km/hr

73. £40% of P=0-750f Q= % of R, then find
the value of P:'Q : R.

1
[
L]

HEKTORKDDERDOAXDEGIDOLLDVZLI0C2022[00820D0DSNKGDHRNGDHNDTKENR

ESE oo

69. ‘Tm TR ~Aifee = (SRfbe W) @F
qAEG?

(A) s

" (B) SR 2
(C) siteTrS
(D) Feria

70, TER N SAWRMG NI 074 T A2
(A) it

®) forw =1 E.f,
(©) wafn 0
D) Ayt

71, «ffam wER oifrmiae 2023 @im o
SIS FERE P
(A) ©iFw
B) Wietade
(C) wIfs=i
D) T

72. &35 =g 10 /9% Qo FER= i
T (ofR 9k 15 R/ a1 st e e | sl
Tiaita e «fowms o7

(A) 12-5 B/a%t
B) 14 Bhi/a%t
(©) 12 FeRi/=%t
D) 135 BR/eH

73, TR P-4 40% = Q4 075 = R~qq %?&,
S P : Q : R7 wiA 7 o1 |

(A) 15:7:25 (A) 15:7:25 ?E}%E_!
(B) 3:26:28 (B) 3:26:28 s
(C) 16:8:5 (C) 16:8:5
D) 15:8:24 (D) 15:8:24
E =] Please Turn Over
EI A
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74. The average of 10 numbers is 20. If each
number is increased by 5, then what is the new
average?

(A) 24
® 20
(C) 30
D) 25

75. By reducing the selling price of a
book-shelf by ¥ 2,000, a gain of 10% turns into a
loss.of 10%. Find the original selling price of the
book-shelf.

(A) T 10,000 [=]2 E_!
(B) T 11,000 ]
(©) T 12,000

®) %9,000

76. Where is Vansda National Park located?
(A) Uttar Pradesh
(B) Gujarat
(C) Rajasthan
(D) Madhya Pradesh

77. Who has been re-elected as the Speaker of
the 18th Lok Sabha?

(A) Jagdeep Dhankar
(B) Om Birla
(C) Harivansh Narayan Singh

(D) Sumitra Mahajan [&];

[x]

78. Present population of a town is 2,00,000.
The population will increase by 10% in the 1styear
and 15% in the 2nd year. The population of the
town after two years is '

s (8]

HERGETRMXDPERXDIOR X DDV VODOVLZDVRDLOVOQXDOREEDT T AT G N D NN

*

74, 107 i sie %1 20 | e wyt e s

& i, ORGP G TR
) 24 [=]: El
®) 20 [w]
© 30
D) 25

75, 436 A Oisd Ry 2,000 B0t
e 10% =iteq W@ 10% o | 31T

(A) 10,000 B
@B) 11,0005t
(©) 12,0005t
(D) 9,000 51

76. ST TS SR HIUE SRS
(A) Cemew
(B) wemi
(C) A=
(D) NG

77, 1899 @SN ProE (SYw) B &
sz zmT ?

Ok:0
(A) Tsiie 4 WE
(B) e faga =
(C) e i B
(D) Rl TRE

78, <3 *Fq IS SERAN 2,00,000 |
TR e 4L /T 10% 9 Rew I=F
15% 1 52 T A 6% = SRyl g8 —

(A) 2,53,000

(A) 2,53,000
(B) 3,50,000 (B) 3,50,000
(©) 3,00,000 (©) 3,00,000
(D) 2,35,000 D) 2,35,000
=] ¥ [x]
El
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79. 9-1% of 33552 of; — 334@ %—%—cq'as_—v
(A 11 YRR (A) 11
®) 8 = ®) 8
© 9 © 9
@ 7 (D) 7

80. Find the smallest number by which 5808

80. (PN T Yl M 5808-(F @ T

should be multiplied so that the product becomes eI GG 9i=ﬁef R FE?
' a perfect square. (A) 2 =]
(A) 2 (B) 3 "%
; @ 3 © 7 =
© 7 o) 11
@) 11 '

‘81. Which one of the following is a tributary of

81. TG HE <6 ToimR

the Bra](:;apél]tlra River? (A) T Q1 ot Ay
a
© Mati ®) W&
‘ (C) Kosi (©) coift
| (D) Manas () A

82, Which country hosted the 50th G7 summit

82. (TN P S0 7 N AR 2024 SiE

‘ 20247 @lAE] . ek
(B) Italy [w] ®) o
(C) USA
(D) Brazil (GRCIEE]
(D) aifem

a3

83. Thereare 62 questionsinatest. Eachcorrect
answer gives 2 marks and for each wrong answer
1 mark is deducted. Ramen scored 34 marks and he
attempted all questions. Find the number of
questions Ramen answered correctly.

FERDOTR RGO R XD AR DOV VDOV O DD OO0 NN T D NN DD T D R

83. T AT o6 62 T =t e 2R wfds
Tt o) 2 979 RET W R AfSlb g Sermm
1 754 3 =71 9w 2SR oeiw Ten M @il
34 T (e | SoW Fosf e AT Sew
freafest ot fefa 1

A) 34

®) 28 @ 34 5]

©) 33 (B) 28 i';j 2
D) 32

Please Turn Over

e
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84. Who gave the equations of motion for the
first time?
(A) Bernhard Nobel
(B) Issac Newton
(C) C.V.Raman
(D) Einstein

*

85. The ratio of the present ages of father,
mother and theif son is 6 : 5 ¢ 1. When the son will
attain the present age of his father, at that time the
sum of their ages will be 135 years. Find the

6

84. i Rl LR SifSoqag T @R ¢
(A) IRE IR o

(B) wizw REs .,,%
©) B.F. 2w =]
D) e

85. forel, TSl @ 7jew I JWEW S

15011949 oJEE T oo I6u e WA
T O SR oo e <8R TR 9 135 929

present age of the mother. e G 59 e
(A) 30years I ®) 307 .
(B) 36 years [w]: B) 363
(©) 25 years () 25357
(D) 35 years (D) 35 957

86. GandhiSagar Wildlife Sanctuary is famous
for
(A) Cheetah reintroduction project
(B) Lion reintroduction project
(C) Red Panda reintroduction project
(D) Black Panther reintroduction project

oE o
2
| [=]
87. ‘Kalamkari’ painting refers to
(A) ahand-painted cotton textile in South
India.

(B) a handmade drawing on bamboo
handicrafts in North-East India.

{C) a block-painted woolen cloth in
Western Himalayan region of India.

(D) a hand-painted decorative silk cloth
in North-Western India.

XEXDDTERDOXRXSGOR X TH{SGOOLSQDSLDLODVLGLDTTOOLADOTDOR KT DR ERDT SRR

M
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86. IR VAT oY @ T Kgte—
(A) Q2T ST Bt TRt B2l sfeaiéa
23w |
(B) RITT 1T i TRt 2l <jris el
&3 |
(€) QU SR T ofifet RTHd ol
SAETET o |
(D) R &tz FieE ool 3t ane g
e R SjeeTe ﬁWlEl =

1 -

a2

[a] .

87. ‘T o =
(A) 7 SEToe Qoo Wil e .
(B) Tax-={ wiFre T Tiewd WG
g TS Sl e |
(C) =f¥ow Il e el eI = IR
©oig 399 R oawat |
(D) Tea-+x wiarey @i I@T T
Tjoe il Me |
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88. Which one of the following rulers built the * 88, RnRiRe @ i LR ELEOE R
Rathas Mandir of Mahabalipuram? [ 3A[=] * Fetley srafeE= 2
(A) Pulkeshin Second E A) RS o
(B) Rajendra Chola [=] ((B; N Bl
(C) Narasingha Barman Second ) <
(D) Rajaraja (©) ool e
(D) AEdE
89. Which country haslaunched the Nationwide 89. & it Frwnve FRERTGET v
Mass Drug Administration (MDA) Initiative for CREITIA W7 Gl SO (Eq) ©wpia 51
Lymphatic Filariasis? D
(A) SriLanka (A) Sl [w] [}
(B) Nepal £
(©) Tndia (B) i [=]:
(D) China (©) w5
D) W
90. Full formof PETA, an organisation working 90. PETA-9R <faist, @3of5 AiRston @b “iav@
against the abusive treatment of animals is Hite SIS 5T g IS SE—
(A) People, Environment and Treating (A) TR sifara e R 11 i
Animals e . ]
(B) People for the Ethical Treatment of (B) =t ofieeT oy
Animals (C) ARt 9 aifies PR oo TR
(C) People for Environment and D) AW AR 8 g &= hEa
Treatinent of Animals
(D) PanelforEnvironmentand Treatment
of Animals

91. The ST unit of the work function of a metal
used in the photoelectric effect is

(A) Joule () [E15 =]
(B) Newton (N) E]"' ¥
(C) Pascal (Pa) '

(D) Hertz (Hz)

92. A sum of money amounts to ¥ 9,800 after
5 years and ¥ 12,005 after 8 years at the same rate

HEXDOEMDOR XSO AX TSROV QDDV[OOD[EVVDRUODODORKDTTHRRDTDRED DR

91, 3f6 wiETTSibe fFag een Tz 4gd
P AT TR, GFF P
(A) &=
®) e
(C) *H= =
(D) oer

92. G AL HAARTIA TR A A 5=
9,800 Bil R 8 I=LA 12,005 B 70 | AR

;;f simple interest. The rate of interest per annum IR TR
@) 5% (A) 5% EI Lil
®) 12% ®) 12% B3
C) 8% ©) 8%
®) 15% D) 15%
;ESE Please Turn Over
[=] %

SLD/23-B-4120118/17



8L/8L10611¥-g-€¢/Q1S

i

=]

@ S—_—

* ® yewuoq (D)

g] eewog (g)
el (V) wsTEd (V)
SIS Qlibly bl {TII9) 9Z0Z-5Z0T 9 103 [ounog)

WU plolbitle B 9Z0C-STOT Bl ) 96,

£jumosg N 91 Jo Jequom juoueuirod-uou
SE PoJo9Je UQa(Q 10U SBY U0 YOIYM ‘96

Ty 9. (@
lash /el 9 (D) Ty -6 (D)

E losh /el €S (D) a E mury ¢ (g)
% la /e € (@) (31 o £ ()
[=]i=[x] Lk /e S (V) “PAISA0D TIA( SBY SOUBISIP
i e b2 e o Alefahihbste S & DI 9w soye poads o) puT ‘poads JuoseHIp

QUIOS Je SUIUTETIar oY) pUe J/WIY ¢ J8 90ueIsIp
o} jo p.I% I2A00 0f popioop of 'SIINUIT £ Ul
ury 9 JO 0UB)ISIP € I3A0D O} PIPIP BT Y *G

el it Eliol <2balk mw@@mw
202 10ehs /Rl b bedhe, £ 5b0T 26 1ujay | llodlsl BShie]
Mm&&g@gmvsg&w *S6

lela 000°QE‘T (D
kla 000°82°T Q)
lela 000°80°T (&)

000'8€°T 2 (@
000°82'1 2 Q)
00080°1 » (@

000811 2 (V)

LA JO 2IeyS Ot ST JBYM
“000°L6°T 2 51 poures ygoxd ot J Z 3o Teyideo oy
$2101} I00J SI 1 JO [ejides o pue f Jo repded sy
ooy o3 Tenbs ST X Jo Te1ideo 9y 90IM] ‘SSaUTSng
o uf "syomuxed ssouysnq ale Z pue [ ‘Y ‘b6

1514 000°8T°T (W)

0 o] B k(e ‘B2 lbla 000°L6°T bileslle
EoOllo ue | beflele B1DR { Slislole b7 lakloke g
b bliele BIO& € Biklek BT Lokl Sioklsk s5-X
S0gJliebf | Siklldia bliebl QS Z BB L X V6

- g:? Eg)) S1I0919IA] (D) |
| sprotaisy (3) ‘
2L Yok (@) B wndny (@)
-E :Ta] ug (V) ?%{4\ uooly (V)
2005% bl o ¥ [EIEKE] 4poq [ensea0 goTgM SA135qO

ERXKDGOAEDESRXZORXGOIDZTLLFIRODSDOLDDOOTRODORRALDOENMTORETOERDTIREER

LelnlebfRste 1ol 7D Told bolblwiiblte il VSVN €6 o} Jemaoeds Aon] ol poyoune] YSYN €6

ST-4 ﬁ £2/a1S



B-19 E SLD/23

97. «srﬁas €%, TR0 (Tt 226 =
S0 (A) 2ET w0 gl
B) 6 GHHFET
(C) W [Foe==(1789-1848132)

97. Eric J. Hobsbawm authored the book—
(A) Pride and Prejudice :
(B) Great Expectations
(C) The Age of Revolution (1789-1848)
(D) Crime and Punishment  [@]¥][x]

% (D) iR Bpie SAfFIore & 5]
- ”’%
=2
. 98, 20 men cancomplete ajobin 10 days. After 98. 20T &% « 36 35 10 M= ﬁﬂsinf O

5 days .20 more men join the group. Then, how AE | 5 T 2t =S 20 S @ W st By

;gt;y total days are needed to complete the entire oI 3 lf A NP .
(A) 7-5 days (A) 7-%? a
(B) 8 days ®) 8 .7
(©). 85 days (C) 85T
(D) 6days. (D) 6fa
9?)115 (Illlégq:rcn’s. Film Society of India was 99, TosET e Rial o B sRfe =
e - B (A) 19557t 5[]
‘ ®) 1956 %g% B) 19567 7l
(B) ! o 53
(©) 1990 =] (©) 1990 it m
D) 1959 D) 1959 A1

100. The concept of Fire Temples is related to 100. SfA-sFrg o™ i fFe?

(A). Hinduism (A) T ofire
(B) Judaism (B) & of¥e
(€) Jainism (C) & Hfire
(D) Zoroastrianism (D) RYfEAN o

ol B Rl i a&&%ﬂ'@%%%%%%G%%%%é@%%’&%%%3’@&G%@@Gé&&@**%%**&%**%%***

|

%@:***
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DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO.
2023
TEST BOOKLET TEST BOOKLET SERIES

English, General Studies and Arithmetics
Time allowed : 1 ;,_ hours

Full marks : 100

Answer all the questions.

l Questions are of equal value.

Serial No. . 4190119 Roll No.: |

} Signature of the Candidate: ‘

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose. ‘ fio

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.

34507 Please Turn Over



[
SLD/23 -

1. What is the synonym of Lurk?

(A) Lean
(B) Hide
(C) Play
(D) Guide

2. ‘Red-hot’isacompound word thatis formed

by
(A) Noun and Noun

(B) Adjective and Adjective

(C) Noun and Gerund
(D) Adjective and Verb

3. Form a correct and meaningful sentence by

rearranging the following;,
{a) To sell
{b) A gentleman

{c) Who wishes to go abroad

(d) Has a dog

4) (), (@), (), @
®) @, ®), (@, ).
©) ®),©@,®
@) ®). (@), @), ©

4. The making of the plan is in hand— Here

‘making’ is a/an
(A) Noun
(B) Infinitive
(C) Adjective
(D) Gerund

5. The plural form of ‘hypothesis’ is

(A) Hypotheses
(B) Hypothysis
(C) Hypothises
(D) Hypothesis

SLD/23-C-4190119/02
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6. Who is an atheist?

(A) One who belives in the existence of
God.

(B) One who is confused about the
existence of God.

(C) One who does not believe in the
existence of God.

(D) Omne who is a follower of aesthetic
principles,

7. Fillintheblank with the correct preposition:

‘We’vebeen working thismormning,.
(A) in | CIRA LT
(B) at LoV

(C) since E' ;ﬁ:

(D) on

8. What is the antonym of Conform?

(i) Rebel
(ii) Hide
(iif) Conflict
(iv) Trust
(A) Both (i) and (iii)
(B) Only (ii)
(C) Both (i) and (ii)
(D) Only (iii)

9. The army the troubled places
as curfew remained in force.

Choose the correct option:
(A) moved

(B) walked

(C) patrolled

(D) ran

10. An animal that feeds on plants is called

(A) Catnivorous %=1
(B) Herbivorous -

(C) Insectivorous LI
(D) Omnivorous




11. Complete the idiomatic expression.
Birds of the same feather together.

(A) fly
(B) chirp
(C) flock
(D) sing

12. What does the word Verisimilimde mean?
(A) Truth W% &
(B) Similar .
(C) Verified [l
(D) Familiar

13. Select theé correct form of the simple
sentence for the compound sentence mentioned
below:

He was not confident, but he appeared for
the interview.

(A) In spite of not being confident he
appeared for the interview.

(B) In spite of lacking in confidence he
.appeared for the interview.

(C). Both (A) and (B)

(D) He appeared for the interview though
he was not confident.

14, What is the negative form of the following
sentence?
_ Alfred was the best king that ever reigned
in England.
(A) No other king as good as Alfred ever
reigned in England.
(B) Alfred remains peerless as.a king in
England.
(C) Alfred was not the best king that ever
reigned in England.
(D) None of the above

15, Fillin the blank:

Q
w

EEKDTHEDGOAXGLEX DO/ DDDIQHORODIOQDDOOD DD DR KD D NN D D NN D NN

A of lions. Er-m
(A) herd ._
(B) group [=]: '.ﬁ
(C) pride
(D) pack

[=;

SLD/23-C-4190119/03
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16. Choose the correct word to complete the

following sentence:
My research focuses on the half
of the eighteenth century.
(A) later [m] = =]
(B) latter EIAs
©) late Sl
(D) lateness

17. What is the noun form of ‘Restrict’?
{A) Restricted
(B) Restricting
(C) Restriction
(D) Restrictive

18. The antonym of thé word Gruelling is
(A) Cunning
(B) Easy
{C) Motivating
(D) Dampening

19, Choose the correct plural form:
(A) Daughter-in-law '
(B) Daughters-in-law o
(C) Daughter-in-laws
(D) Daughters-in-laws

P

T4

20. Identify the correctly spelt word:
(A) Conotation
(B) Conottation
(C) Connotasion
(D) .Connotation

Please Turn Over
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21. Convert the following direct speech to *

26. That Is a fault that will right itself.

indirect speech: The underlined word has been used as a/an
He said, “I have passed the examination.” (A) Adverb
(A) He said I am passed the examination. (B) Verb
(B) He said that he had passed the. (C) Noun
examination. (D) Adjective

(C) Hesaid thatI passed the examination.
(D) He has passed.

27. ldentify the type of the underlined noun:
Wisdom is always better than strength.
{A) Collective

22. Identify the complex sentence from the
options below:
(A) He went to his father’s native place.

L g g - - g R I e R ek R B R R R

(B) He succeeded although his success (B) Common v il
was not expected. (C) Material []: .';E,
(C) He was a mere boy but he offered to _
fight the giant. (D) Abstract
(D) He must have done his duty for he is
a conscientious man.
28, Oneof my friends visiting me this
23. Select the correct phrasal verb for the suminer. Choose the correct option:
underlined word in the sentence: (A) are
She did not appear for the interview on w3 @) will be
- 3 - @ ) ‘ -
fime (A) turn out __Er =] & (C) are being
A ot r o will
(B) turn up El.'r"ﬁ & ®)
(C) turn upon

(D) tum in
29, A word that is spelt or propounced like

24, ldentifytheclausein thefollowing sentence: another word but have completely different

Neha olaved wh ) meaning is known as a/an
c N

cha played when evening came (A) Homonym

(A) Neha played ®) Synon

{B) Played when evening (C) Af::o nym

(C) When evening came o Pamyry’:

(D) Evening came

25, QurSirteaches Mathematics English.

HEBXDGTERXDID R XD OAXDBHIOHDOON

Choose the correct option: _ 30. Cartography is the study of oG
(A) across. [®]= (A) Carts :@ﬁ:‘
@) beside ke ®) Maps O35
(C) besides o (C) Graphic Art

(D) over (D) Cartoons

[=] /% [=]
=1
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31. In a pond, the number of lotus becomes *

[
= SLD/23

31. <3 <0 ATEE WYt A A fad e

. ‘ ; »*
i ofthepond, thn o maeydas e & T T S < T T
of the pond, then & apospel <R stargeer w o 7@

pond will be covered by lotus?
(A) 16 days
(B) 30 days
(C) 29 days
(D) None of the above

32. Present population of a town is 2,00,000.
‘Thé population willincrease by 10% in the 1st year
and 15% in the 2nd year. The population of the

town after two years is. .
(A) 2,53,000 :EI [=]
@) 3,50,000 CIEHS
(C) 3,00,000
D) 2,35,000

33. Which of the following elements is not
found in human body?

(A) Copper
(B) Zinc
(C) Iodine
(D) Lead

34, If40% of P=0-750of Q= % of R, then find
the value of P: Q : R.

ARG EXTOIEXDDIERDOSBPIDL OO/ LSOTVVDDIV2DD DR RRDT DR ERRD

A) 16% [=]=; =]
®) 30 (W]
(©) 29 e

D) TAGET @I’ T

32. 93 NI IS GwA 2,00,0001
TPRA e AT A49 T=F 10% 9 &S =@
15% =1 W2 87 7I(F €% NE TRy ga—

(A) 2,53,000
®) 3,50,000
(©) 3,00,000
(D) 2,35,000

33, A @GR WemE G T e

(A) o
(B) &=
(C) =i
(D) ot

34, 3% P-a9 40% = Q9% 075 = R-4F % =,
OR& P: Q : R<53 W T )

(A) 15:7:25 (A) 15:7:25 @F-EI
(B) 3:26:28 ®) 3:26:28 OlE
() 16:8:5 (C) 16:8:5
D) 15:8:24 (D) 15:8:24
35. Which ofthe following states does not have 35, TsRfe @R AETwioE Matster +fwm
Veto power in the U.N. Security Council? (S5 el G122
(A) United States of America re A
oy Gucargion " gAY ey
(C) Callada El .ﬂrﬁ -
(D) France ©) =l
(D) &
[=1%[=l Please Turn Over
[=;
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36. Which country hosted the Asian Surfing
Championship 20237

(A) India [m]%; [=]
(B) Maldives ik
(C) Mauritius [a

(D) Bangladesh

37. Which country hosted the 50th G7 summit
20247
(A) Japan
(B) Italy
{C) USA
(D) Brazil

38. Who lias been re-elected as the Speaker of
the 18th Lok Sabha?
(A) Jagdeep Dhankar
(B8) Om Birla
(C) Harivansh Narayan Singh
(D) Sumitra Mahajan

39. By reducing the selling price of a
book-shelf by ¥ 2,000, a gain of 10% turns into a
loss of 10%. Find the original selling price of the
book-shelf.

(A) T 10,000 [l
(®) T 11,000 L
(©) T 12,000

®) X 9,000

40. The Hindi film ‘Padman’ released in 2018
was inspired by the true life story of

(A) Arunachalam Muruganantham
(B) R.Balki

(C) Akshay Kumar

(D) Bindeshwar Pathak

e

HEBSGOARXDE ARSI XX DDLUV B[TUVIDOHOVEOR XD T REOSE RN ENE

[

36. <fmE AR EFERART 2023 @R @
e FEEA
(A) wiwe
(B) Weraist
(C)
(D) leETTe

37, RN O™ SO 7 M 2024 SIS

SrafRE? o
(&) w1 [l
®) Toifr [ o5
(©) G
(D) iR

38. 18%% TSN Pl (Sigw) BT
Awefioe zmm ¢
(A) Golist g%
(B) & R
(C) e i R
(D) Il s

39. ¢ L@ oled RFwry 2,000 Siw o
WeAT 10% =ved WE 10% Ho =W BET

oY 89S RemEy Fot
(A) 10,0005t
(B) 11,0005
(©) 12,000 5
(D) 9,000 Bt

40. 2018 1 I 2 B 2R “iowm I

23S Tigw A vl welfte gafe e
(A) SRFIIBT ol 5
B) =L, AR :
(©) &= T DL
(D) Rema A5

SLD/23-C-4190119/06



42, Three positive integers x, y and z are
such that x+y+z is even. Then which one of the
following is not correct?

(A) All of them may be odd.
(B) All of them may be even. [¥]: '..'.h-"
(C) xand y may be odd and z is even.
(D) yand z may be odd and x is even.

43. Which country is the ‘country of origin’ of
taekwondo?

(A) Korea
(B) China
(C) Japan
(D) Philippines

44, Find out the odd one;

(A) Neil Armstrong
(B) Edmund Hillary
(C) Yuri Gagarin

(D) Sunita Williams

45. A sum of money amounts to ¥ 9,800 after
5 years and ¥ 12,005 after 8 years at the same rate
of simple interest. The rate of interest per annum

(A) 5%
@) 12%
(©) 8%
D) 15%

SLD/23-C-4190119/07

bt [x]

[
c7 Y

41. When abus starts suddenly, the passengers * 41, U 436 I ¢ HEAW OIHRS ST

M . *
are pusheq back. This is an example of which of * G ihg BECS OF Fd, O m‘i g m@m
the following?

(A) Newton’s First Law
(B) Newton’s Second Law
(C) Newton’s Third Law

(D) Both (B).and (C)

T res uw PP e e T 9ff i Tt
IR Re

(A) Ebra 29w 7= %EE
@B) e 7o LTI 553
(C) WebeT g8 ™
D) B) R (C) Toxy

42, T T PRt x, y 9R z G @
xiy+z G0 @& RY! | o Fnfks @Rk
fds Tme

(A) R YR Rweie 2o A
B) =h MU @T o AE|
©) x 9 y Riale o Al OR z (=T

*
i
&
*
*
o
3
»
*
&P
<
o
| =]
G
=
G
f TR |
o D) y 9 z RHT o AT @R x &S
o R |
o
o 43. SiRwicH Beolf e D
g (A) cifE
& ®) B
. (C) &H
o (D) fiies
=)
g 44. % ANCAAE 7 (Safbw s +j99) @Il
& Wﬁ,ﬁ%w 2 E%E
by (A) e R R
pe B) e B [
: (C) 2Bfa smaifem
; (D) Ao Tl
ﬁ 45, G SLET AR T TR QA 5ITR
» 98000l @t 8L 12,005 B ¥4 | QIS
R LEE T
- (A) 5%
»*
> B) 12%
i /]
5 (©) 8%
* D) 15%
3
E Please Turn Over
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46. Choose the greatest number among the * 46, ﬁﬁﬁ{ﬁ@ﬂ:ﬂt@ﬁgmm{mﬁ,ﬁﬁm

following: ) TP :

[(5+5_)2] . [5x5x5])%, [5+5+5]°, [‘(s+'5)2]2, [sx5x5]2,  [5+5+5]%,
[55+55+55+55:| , [55+55+55+55:|

@ [+ o] @ [E+57]

B) [5><5><5]2 .E, =,ﬁ (B) [5><5x5]2

©) [5+5+35]°
(D) [55+55+55+55]

(C) [5+5+5]3
(D) |:55+55+55+5'5]

47, Ifday after tomorrow is Saturday; whatday
was 3 days before yesterday?

47, ST Aa T 3 <Gl @, oW
sioicerd 3 e st <t i sy

0 o o

unday E' -'I r
(C) Tuesday ®) S
(D) Wednesday © a
D) =

48, Two stations X and ¥ are 465 km distant.
A train starts from X towards ¥ at 10 am with
a speed of 65 km/hr. Another train leaves from
¥ towards X at 11 am at a speed of 35 km/hr.
Find the time when both the trains meet.

48. 6 GO X IR Y-9% AT 465 Rfdt | 2l
(G 1T 1051 X (X6 Y& 65 Ff/<%t Qs
Gl oF F5 | WEIH G 7 11 B ¥ s X
i 35 /%! (s Tl w961 | S5 DR

(A) 2pm . P & T 2
[ = [=] (A) 2pm

(8) Spm ; P
(©) 4pm O} 553 (B) 5pm
D) 3pm (C) 4pm
' D) 3pm.

49, In which year NATO was formed? 49, (I J=F It <fde z@ieTe

XD ORI R DG HF X LT ODDDIDBDGOLDTORDHDITDDTODHNDTONED T RED DN

g 12:; (A) 1947 A& i
, (B) 1949 et e
o 1323 (©) 19527 (] s
® (D) 1960 =
[=] X [=]
[=]

SLD/23-C-4190119/08



50. Which one of the following is a tributary of *

the Brahmaputra River?

(A) Ghaggar
(B) Mahi
(©) Kosi
(D) Manas

51, GandhiSagar Wildlife Sanctuary is famous

for

(A) Cheetah reintroduction project

(B) Lion reintroduction project

(C) Red Panda reintroduction project
(D) Black Panther réintroduction project

]
Ol

52. Amindivi Islands in India are best known
for which of the following?

(A) Coral Atolls / Reefs
(B) Abyssal Fans

(C) Seamounts

(D) Estuaries

53, Whichcountryhaslaonched the Nationwide
‘Mass Drug Administration (MDA) Initiative for
Lymphatic Filariasis?

(A) Sri Lanka
(B) Nepal
(C) India
(D) China

54, The market price of a bicycle is T 4,000.
While selling the bicycle if two successive
discounts of 20% and 10% are allowed, then the

customer will save for it

(A) T 800 EI E!
(@B), T 320 aLS
(©) T1,120

(D) T480

C9

AREXDSDARDDAXSOTR KOOSO OTOOVIOVODLERDVDVDOODORTOERAEKDTDREDET RSO R

[=]
AT

.

SLD/23-C-4190119/09
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50, FSE T 9T TolA =
(A) TR ] lsF W M%E
(B) =« ?
(©) @i OLES
(D) W= =R}

51. SERFET VAR TSR @ FEE Rge—

(A) I wTE Bt Sk Wit ojsaada
4T |

(B) @It SHiCR F1eg FRaw! ©l wfrzeida
o5 |

(O Qe =g, =fiel oAlet ALTwd o
SeeiTO &FH |

D) G Sz, SiE ot gt FIF g
e B AHHTE & |

52, oiFred QRS Asisg oS @b &

SR @R bt

(A) eRFBE / abE
(B) W ©&

(€) Paes

(D) G

53, @M ot Torenfte wRERTFTE o0

CRIROIA T et SuTCRTATR*W (gafa) Soate o

FARY

OkAD|
mii

(A) Derst
(B) (et
(© wIFe
@) B

54, @ AREE GED 4,000 5 | FHReEh

T4 I T SR AT @ P 20% 8 10% RS
et cota di5Ea

(A) 800w
B) 3205t
© 1,120%
(D) 480 it

Please Turn Over
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55, ‘Kalamkari’ painting refers to
(A) ahand-painted cotton textile in South
India.
(B) a handmade drawing on bamboe
handicrafts in North-East India.

(C) a block-painted woolen cloth in
Western Himalayan region of India.

(D) a hand-painted decorative silk cloth
in North-Western India.  [m] % [=]

oS
56. Full formof PETA, anorganisation working
against the abusive treatment of animais is
(A) People, Environment and Treating
Animals
(B) People for the Ethical Treatment of
Animals

(C) People for Environment and
Treatment of Animals

(D) PanelforEnvironment and Treatment
of Animals

57. The root of “Yoga’ is found in 2 hymn of
which of the following Vedas?

(A) Rig Veda
(B) Atharvaveda
(©) Yajurveéda
(D) Samveda

58. Whatisthe themeof ‘AyurvedaDay 2023’?
(A) Ayurveda for One Health .
(B) Integrated Medicine (5] =
(C) Vasudaiva Kntumbakam

(D) Ayurveda Amrit Kaal Ei{

59, Barakarisa tributary of which River?

¥

HEMDOR KGO R XSO XK DIEDSOO2OHOOOORDEZRDOTOOOD DD DRMT D MDD R ND DR

C-10

55, ‘TN’ Bt g

(A) W SiRTed gro wie 6T |

(B) TEF-{ SRS I FIEd LBME
@7g TS Wit Bag |

(C) ~ifsx fastiers STetel enary o= Seam
ol 7 QA ot |

(D) Teg-=iffen eiren G IET o7
e B! R |

56, PETA~q9 #{fan, o6 7Rol67 Q6 =t
TR e v [Etm e FE—

(A) 3, AT g2 et wat 2R
B) e iow bR v I3

(C) e =R &iifiees ofeertts &= w3
(D) AT ARt e BReeig =y Awe

5
Gl

57. ‘ie’~qq 1 AIGR (T @R CBieg et
™

(A) icdw
(B) SRHEW
(©) T

(D) AN

58, “wrdv e 2023793 O Fe
(A) 9% F0I &y g
(B) Tfie &3y

(C) I THF
(D) =t S e

59, IAT I 0T ol ?

@) Ay (A) .
P ® ot gg
(D) Kansabati (D) TS !
D310
=]
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60. Thereare 62questionsinatest. Each correct
answer gives 2 marks and for each wrong answer
1 markis deducted. Ramenscored 34 marks and he
attempted all questions. Find the number of

questions Ramen answered correctly.
(A) 34
(B) 28
©) 33
D) 32

61. Who was the first Indian woman
to qualify for the Olympics?
(A) Jhulan Goswami
(B) Dipa Karmakar
(C) Mithali Raj
(D) Geeta Phogat

62. Who gave the equations of motion for the

first time?
(A) Bemhard Nobel
(B) Issac Newton
(© C.V.Raman
(D) Einstein.

63. What is the converted speed of 2
km/hr.?

(A) 6 km/hr
(B) 12 kin/hr
(C) 8 km/hr
(D) 10 km/hr

SLD/23-C-4190119/11
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¥ ¥

Trcafeet ot Rofa 1)
(A) 34
] % [m] (B) 28
iy (©) 33
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64. Simon and Anik save 25% and 40% of their
respectiveincomes. If theirexpenditures are equal,
then find the ratio of the incomes of Simon and

Anik.
(A) 4:5
B) 3:4
(C) 5:6
(D) 6:5

5
LS

65. Where is Vansda National Park located?

(A) Uttar Pradesh
(B) Gujarat

(C) Rajasthan

(D) Madhya Pradesh

66. Complete the series:
7,11,19,35,67,2
(A) 99
(B) 134
{C) 98
D) 131

67. Under which Article of the Constitution
is the President’s rule promulgated in any state

in India?
(A) 326
(B) 370
(C) 352
D) 356

=% =

CEiES

68, 20men cancomplete ajobin 10 days. After
5 days 20 more men join the group. Ther, how
many total days are needed to complete the entire

job?
(A) 75 days
(B) 8 days
(C) 8-5days
(D) 6.days

SLD/23-C-4190119/12
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64, T 93 S SIE SHis 92l 25% '@
40% FCT I | T SIth A6 T e, S P
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(A) 4:5
B) 3:4
© 5:6
D) 6:5

65. O Eely Swia @ Tk

(A) Seme

(B) wemle OfAD|

(©) TR "‘ﬁ%gﬁ_

D) wegeire i
66, G 1ol T 8

7,11, 19,35, 67,2

(A) 99

B) 134

(© 98

(D) 131

67. siwem TRYET EF Y g ==
Sed @ (It AT T 391 T2

(A) 326
@) 370
(C) 352
D) 356

68. 20 &+ @IF <@l I 10 e 7ol T3
AR 5 T AR WEe 20 T @1F el @ e

OtarE Aol P o 20O NG Fofi st 2
(A) 75T
®) 8= [w] =[]
(C) 851‘?_4 r sl
D) 6T UL



69. The pH value of human blood is
(A) 74
(B) 83
©) 68
o) 7

3
70. The population of a city is 6000 and 17 th
of the population is male ard. rést of them are
female. If the 30% of the males are married, then
the percentage of married females in the city is
E5E
1]

() 25% =]

(Ay 10%
B) 15%

(D) 35%

71. Which one of the following rulers built the

Rathas Mandir of Mahabalipuram?
(A) Pulkeshin Second
(B) Rajéndra Chola
(C) Narasingha Barman Second
(D) Rajaraja

72. Which one has not been elected as
non-permanent. member of the UN Security

Council for the 2025-2026 term?
(A) Pakistan
(B) Soinalia
{C) Denmark
(D) Sri Lanka

73. What does the Persian word shahi mat /

checkmate mean?
(A) King is alone.
(B} King is hopeless,
(C) King needs help.
(D). King is dead.
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69 R IFA PAZ5 (pH)-93 I

(A) 74 Fa
®) 83 mm%,g@
© 68 e
o7

70. =6 “EF @6 SERBT 6000 €I 6
R 7 S <, TR SR 2 e
30% RS 21, o e [Raifke e s —

(A) 10%
B) 15%
(©) 25%
(D) 35%

- Frfi sraferEme
(A) e

B) AEE G
(€) oy mafigaf
(D) Hrewe

72, GBI A 2025-2026 R T GRIK
AfafFe wifesjtem, Fante Afeom gl Wy
Bt Fdive R e

(A) ANV
@B) eIl
(C) o
(D) St

73, T *%1 Mz 7o | Gaev-ga wd e

(A) e =)

(B) IS SN

©) R ALY ==
(D) Se! S oot |
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74. The average of 10 numbers is 20. If each %

number is increased by 35, then what is the new

average?
(A) 24
®) 20
(©) 30
D) 25

75. Find the smallest number by which 5808
should be multiplied so that the product becomes

a perfect squatre.
A) 2
B 3
<7
D) 11

76. Which of the following metals was not

known by the Harappans?
(A) Copper
(B) Iron
(C) Bronze
(D) Gold

77. A merchant buys two kinds of coffee, one
at the rate of ¥ 8,000 per quintal and another at
the rate of ¥ 10,000 per quintal. He mixed them
in a proportion of 10:6 respectively. If he wants
to have a profit of 20% on the whole transaction,
then at what price per quintal he must sell the

mixture of the coffee?
(A) T10,500
(B) ¥3,500
(©) 9,500
(D) 10,200
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(A) 24
(B) 20
(C) 30
©) 25

75. @R Fed WY M@ 5808-F @ I
e Gl fasl TR 2R 2

) 2
®) 3
© 7
@) 11

[=]= I

76. Tnafiids «gem o @Eby 979

TIHRIAR! SRS 71
(A) ot
B) ==
(©) e
D) G

77. GG [P [-AFT e FAFE
8,000 Gi¥l '@ 10,000 BRR FZTBIE WA T A
10:6 Srpiite FiRe e | 3 Rf EIGT Baig
20% =Te I, O €2 Fife 5 776 Siet 3209

LicRELkcnh
(A) 10,500 Bt
(B) 3,500 Bt
(C) 9,500
(D) 10,200 5tw
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78. A student went to the school by cycle in
10 km/hr speed and returned back in 15 km/hr

speed, Whatis the average speed of the entire ride?
(A) 12-5 km/hr
(B) 14 km/hr
(C) 12 km/hr
(D) 13:5 km/hr

79. X is twice as good as Y and together they
complete a piece of work in 20 days. In how many
days will X alone finish the work?

(A) 22 days [z [«
(B) 30 days - I
(©) 35 days IS
(D) 40 days

80. Who wrote the book “An Era of Darkness
: The British Empire in India”?
(A) Amlesh Tripathi
(B) Shashi Tharoor
(C) Hamid Ansari
(D) Bipan Chandra

81. The SI unit of the work function of a metal
used in the photoelectric effect is

(A) Joule (J)

(B) Newton (N)
(C) Pascal (Pa)
(D) Hertz (Hz)

82. Whofounded the Asiatic Society of Bengal?
(A) Bankim Chandra Chatterjee
(B) Madhusudan Dutta
(C) Charles Wilkins
(D) Sir William Jones

L R KRR R i R e - e g B O 3 g i - R g R B 3R R R - R e Rl R
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78. w3l =T 10 Bfi/9% st =iz vt
HE (IR @} 15 TR/ 9%1 st R aoeg | 979y

iy 16 sifewas o7
(A) 12-5 R/t DR30)
B) 14 RB/a% Wi
(©) 12 /<%t
(D) 13-5 FRi/=%!

79. X, Y- faa v @3 S R @l et
20 T oo 09 | T X @t G2 Tl o1

T

(A) 22
(B) 30 T
(C) 35f=
(D) 40f=

80. “AnEraof Darkness : The British Empire
in India” <36 & FmafRrem e

(A) ST S
(B) = QR
(©) v st
D) erE"

81, I TGS T 2eitd IJILS g

T AT PR, G 2 -
(A) &= e
(©) T
(D) oo

82. F PmIT GG o (e 2few T e

(A) 5" SUEEIOR
B) T vE@

(C) Bt UEafy
(D) 17 BRI &
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‘83. There are 5 students standing in a row.
Every student has two more books than the student
mfront of him/her. Then the total number of books
o0

(A) always even.

(B) always odd. ! ,ﬁ
(C) might be even or might be odd.

(D) neither even nor odd.

83. 5% B 9o Fifits Mw Wiz 2o
RIGGE FIR SIF AR A 2 B | &
ST S A {2 R

(A) FRHE (MG |

(B) RAsaE Rres |

(©) EIge TS A, Rumigs 7o =i |
(D) @re = Riee @milE

84. Which country is considered the founding

member.of FIFA?

L TR )
(A). France A EE
(B) Belgium \ e
(C) Netherlands (B) e El &
(D) Switzerland (C) EwiFeTEH

(D) E=He
012 a3 1 7 .
85. 9—1§ 0f3ﬁ'-—57 0f§=? 85, 0_ 311_‘51?15__9@5__9

(A) 11 ™) 1
B) 8 ®) 8
© 9 © 9
D) 7 D) 7

86. What is the least positive integer to be 86, 8270-a7 A} ST @R FAF =FRAT

added with 8270, so that it will be divisible by 16? Qot T (1 169t Koty 5|e
(A) 2 (A) 2
B) 4 B) 4
gC) 8 EF-E ©) 8
D)6 . ‘ﬁ%ﬁﬂ (D) 6

87. The ratio of the present ages of father,
mother and theirsonis 6 ; 5 : 1. When the son will
attain the present age of his father, at that time the
sum of their ages will be 135 years. Find the

87. el el @ =jggw IEAH FWOH SFAS
6:5: 1194 <Jtad <% Pror 3691 THETE A
A O OE TS 6T T ZR 135 I |

RENXDOGHERDORBDGO R M DIDD2ZOJDDHDDLSTOIRJDDDDODTOEH KD REDTHRRD S NN

present age of the mother. G G 0 R )%=l
(A) 30-years (A) 303=7 %
(B) 36 years (B) 36 =g il
(C) 25 years (€) 259=g
(D) 35 years (D) 35324
[a] X [x]
[
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88, ‘The Hornbill Festival’ is celebrated in
which State?
(A) Manipur
(B) Arunachal Pradesh
(C) Nagaland '
(D) Mizoram

89, Eric J. Hobsbawm authored the book—
(A} Pride and Prejudice
{B) Great Expectations
{C) The Age of Revolution (1789-1848)
(D) Crime and Punishment. Er-E

(o
90, NASA launched the Lucy Spacecraft to
observe which celestial body?
'(A) Moon
(B) Jupiter
{C) Asteroids
(D) Meteors

91. Which country’s Armed Forces have
recently been honoured with the Golden
Owl Award for outstanding performance?

(A) China.
(B) Sri Lanka
(C) Singapore
(D) India

92, A man decided to cover a distance of 6 km
in 84 minutes. He decided to cover Erd of the

C-17
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D) Remigw

89, <. (5. TRGE @ R/ =
ONE: cigenicle iy
(B) G5 THTATHHP]
(C) WIEER FefF8={(1789-1848 1)

(D) Fiaw woie AfGre

90. NASAZF TR B AR ERITRR
9Q AHTH T2

(&) St
(B) T
(©) &9
) =

91, (FW S g iR RS wemEe
AR & (ST e A g e 2R e

(A) B
®) Sl
(©) FesE
(D) SIFe

92, 9% e 84 RFG G%WWW
ﬁwﬁml%ﬁ@w o 4 Rt/ et et

distance at4km!hrandtherema1nmg at some # 3% SRERA S ﬂ%@tﬁwmﬁﬁﬂl
different: speed. Find the speed after the %rd EWW.WWWG‘{\GWW siSa |
distance has been covered. n (@A) 45 R/ =[]

(A 4:5km/hr g%g ®) 5 R/ Fﬁ%ﬁ

®B) 5 km/hr OL 55 (©) 55 Rfy=H

(C) 5'5km/hr (D) 6T/t

(D} 6 km/hr
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93. Children’s Film Society of India was * 93, Baygww) e G o 3wt ofh _—
established in . * ' (AV 1955 5T ' : e
@ 5 EI i (B; 1956 #it=1
(B) 1956 'E .% )
(C) 1990 b (C) 19907
(D) 1959 (D) 1959 A

94, Inonehour, a boat goes 11 km/hr along the
strearn and 5 Km/hr against the stream. The $peed
of the boat in still water: (in km/hr) is

(A) 3 km/hr
(B) 5 km/hr
(C) 8 km/hr
D) 9 km/hr

measure atmospheric pressure?
(A) Galvanometer
(B) Fathometer
(C) Barometer
(D) Altimeter

96. X, Y and Z are business partners, In the
business, twice the capital of X is equal to thrice
the capital of ¥ and the capital of Y is four timés
the capital of Z. If the profit earned is ¥ 2,97,000,
what is the share of ¥7 I

(A) ¥1,18,000 m [l
@) ¥ 1,08,000 [
(C) T1,28,000
D) ¥ 1,38,000

97. Who won the International Booker Prize
20247
(A) Ms. Jenny Erpenbeck
(B) Margaret Atwood
{C) Toni Morrison
(D) 1. K. Rowlinig

SLD/23-C-4190119/18
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(B) 5 Ry ey
(©) 8RBy CILEE
(D) 9By

95, TRNGTETR ivt A CILRIT T AW e
(&) sHESAEE
(B) WA
(©) TEIRTE
(D) wFRGI

96. X, Y9 Z 9T JITK SR | THRAGes
X7 EHCT Tl Y99 e 3 e ST 9]
V-9 4 Z-aF JENCT 4 SR | SR Aived
AR 2,97,000 Bl 2, SRE V-4 i Fo ¢

(A) 1,18,000 Bisst
(B) 1,08,000 it
(©) 1,28,000 Bt
(D) 1,38,000 B

97. @ eEiiEs T 2ikE 2024 Fite SR ¢
(A) FF @l @atsiaEe

B) Wfie’ B EI 5
(©) R e [=]sirr
(D) @, @ FASER
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98, The concept of Fire Temples is related to

(A) Hinduism .
(B) Judaism !_EI' [=]
(C) Jainism [w]5

(D) Zoroastrianism.

99, If the L.C.M. and H.C.F. of two 2-digit
numbers x and y are 36 and 6 respectively and
x<y,thenx:yis

(A) 2:3
B)1:2
€y 3:5
(D) 4:5

100. Two taps A and B can fill 4 taik in 5 hours
and 20 houts respectively. If both the taps aré open
then due to a leakage, it took 30 minutes more to
fill the tank. If the tank is full, how long will it take
for the leakage alone to empty the tank?

C-19
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(A) 4 Y2 hours ISk w5E
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Full marks: 100

Answer all the questions.

Questions are of equal value.
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Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
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4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
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7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
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1. The making of the plan is in hand— Here *

‘making’ is afan
{A) Noun
(B) Infinitive
(C) Adjective
(D) Gerund

2, Cartography is the study of
(A) Carts
(B) Maps
(C) Graphic Art
(D) Cartoons

3. Convert the following direct speech to

indirect speech:

He said, “I have passed the examination.”™
(A) He said I am passed the examination.
(B) He said that he had passed the

examination,

(C) Hesaid thatIpassed the examination.

(D) He has passed.

4, Identify the type of the underlined noun:
Wisdom is always better than stréngth.

(A) Collective
(B) Common
(C) Material
(D) Abstract

5. A word that is spelt or pronounced like
another word but have completely different

meaning is known as afan
(A) Homonym
(B) Synonym
(C) Antonym
(D) Paronym

SLD/23-D-4190120/02
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6. Identify theclauseinthe following sentence:
Neha played when evening came,
(A) Nehaplayed
(B) Played when evening
(C) When evening came
(D) Evening came

7. ‘Red-hot’ isacompound word thatis formed

by

(A) Noun and Noun

(B) Adjective and Adjective  [HI£j[x]
(C) Noun and Geruad E ﬂ%‘!
(D) Adjective and Verb

8. Select the correct phrasal verb for the

underlined word in the sentence:

She did not appear for the interview on

time.

(A) tarn out
(B) turn up
(C) tum upon
(D) turn in

9. Fill inthe blank with the correct preposition:
We’ve beenworking this morning,
(A) in
(B) at
(C) since

(D) on

10. 'What is the noun form of ‘Restrict’?

(A) Restricted R
(B) Restricting ioe
(C) Restriction 0

(D) Restrictive



11. The army
as curfew remained in force.

Choose the correct option:
(A) moved

(B) walked

(C). patrolled

(D) ran

12. Identify the complex sentence from the
options below:
(A) He went to his fathet’s native place.
(B) He succeeded although his success
was not expected.
(C) He was a mere boy but he offered to
fight the giant.
(D) He must have done his duty for he is

a conscientious man. O E]
”‘Z?éq

13. What is the synonym of Lurk?
(A) Lean
(C) Play
(D) Guide

14, Form a correct and meaningful sentence by
rearranging the following:
(a) Tosell
(b) A gentleman
(c). Who wishes to go abroad
(d) Has a dog
(A) @), @), (0), @
B) @), ®), [, )
©) (@), (), (d), (a)
®) O), @, @, ©

15. An animal that feeds on plants is called
(A) Carnivorous [=] E
(B) Herbivorous B Lo
(C) Insectivorous
(D) Omnivorous

D3
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the troubled places ¥  16. The plural form of ‘hypothesis’ is

(A) Hypotheses
(B) Hypothysis
(C) Hypothises

(D) Hypothesis

=[]
e

17. Identify the correctly spelt word:
(A) Conotation
(B) Conottation
(C) Connotasion
(D) Connotation

18. What is the antonym of Conform?

(i) Rebel
{ii) Hide
(iii) Conflict
{iv) Trust

(A) Both (i) and (iii)

(B) Only (if)

(C) Both (j) and (ii)

(D) Only (iii)

19. That is a fault that will right itself.
The underlined word has been used as afan
(A) Adverb = HmE
(B)- Verb "i':gfg
(C) Noun (=]
(D) Adjective

20. Who is.an atheist?

(A) One who belives in the existence of
God.

(B) One who is confused about the
existence of God.

(C) One who does not believe in the
existence of God.

(D) One who is a follower of aesthetic
principles.
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21, OurSirteaches Mathematics English.

Choose the correct option:

{A) across

(B) beside % E;c
(C) besides [x

(D) over

22. The antonym of the word Gruelling is
(A) Cunning
(B) Easy
{C) Motivating

(D) Dampening

23, Select the correct form of the simple
sentence for the compound sentence mentioned
below:

He was not confident, but he appeared for
the interview.
(A) In spite of not being confident he
appeared for the interview.
(B) In spite of lacking in confidence he
appeared for the interview.
(C) Both (A) and (B)
(D) He appeared for the interview though
he was not confident.

24. One of my friends visiting me this
summer. Choose the correct option:
(A) are
®) wilte gggg
(C) are being (u]
D) will

25. Choose the correct word to complete the
following sentence:

v
&

HERESGGHERGTRRDI SR X DO ODOIDLDSPOGDOOOO DO DG SO0 ND SN D S NN DDk

My research focuses on the half
of the eighteenth century.

(A) later

(B) latter

(C) late

(D) lateness
[=l
E N
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26. Complete the idiomatic expression.
Birds of the same feather together.

(A) fly

(B) chirp
{O) flock
(D) sing

27. Choose the correct plural form:
(A) Daughter-in-law
(B) Daughters-in-law
(C) Daughter-in-laws
(D) Daughters-in-laws

e i

28. Fill in the blank:
A of lions.
(A) herd
(B) group
(C) pride
(D) pack

29, What is the negative form of the following
sentence?
Alfred was the best king that ever reigned
in England.
(A) No other king as good as Alfred ever
reigned in England.
(B) Alfred remains peerless as a king in
England.
(C) Alfred was not the best king that ever
reigned in England.
(D) Nore of the above

30. What does the word Verisimilitude mean?

(A) Truth [=]
(B) Similar Wi Lt
(C) Verified [x] ‘:'ﬁ:’
(D) Familiar

[=]
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31. Who gave the equations of motion for the 31, W R e s w aEfeEm 2

first time? (A) THEIE I
(A) Bernhard Nobel : e GG .
(B) Issac Newton ?;; &1 f. g! E
(C) C.V.Raman - e
(D) Einstein D) SR '
32. Children’s Film Society of India was 32. Beg=7 fen cIiE’ e efa atfe =
established in _
(A) 1955 DI (A) 19551
®) 1956 e 2 (B) 19561
(©) 1990 (©) 199071
D) 1959 (D) 1959 A=
33. Choose the greatest number among the 33. PR ReRE g gReRYiR Fie
following: . =F :
[5+57 ], [sxsxs]®,  [s+5+5)%, [5+57]", [sussl®,  [sasesl’
[55+'55+55+55] [55;"_554;5.5 +5‘5.:|

@ [6+57)
@) [5x5x5]*
©) [5+5+5]°
D) [55+55+55+55]

& [Gs+57]"
®B) [5x5x5]>
©) [5+45+5]°
(D). [55+55+55+55)

34. Find the siallest mimber by which 5808 34. @R Frow Y W@ 5808-F @t IAE

should be multiplied so that the product becomes ¢ @e%a «IH ﬁiﬁﬁf TR I?

a perfect square. (A) 2 EEE
(A) 2 ®) 3 m%g
B) 3 © 7
o7 D) 11
® 11 ’

35. Which country hosted the 50th G7 summit 35, @I 0P 50N &7 SN 2024 S

HARDDEADTOAEDE XA R[OS/ JD/VPIRDDZZVVODREBORDDRRDDREED S I RD D RN

20247 FeAfRETe
(A) Japan '
pr mml a
(C) USA E e
(D) it

Please Turn Over
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36. Inone hour, a boat goes 11 km/hr along the
stream and 5 km/hr against the stream. The speed

of the boat in still water (in km/hr) is
(=155 =]
by, Tl

(A) 3 km/hr
®B) 5 km/hr
(C) 8 kmihr
(DY 9 km/hr
37. Which of the. following metals was hot
known by the Harappans?
(A) Copper
(B) Iron
(C) Bronze
(D) Gold

38. The ST unit of the work-function of a metal
used in the photoelectric effect is
(A) Joule (J)
(B) Newton (N)
(C) Pascal (Pa)
{D) Hertz (Hz)

-39. The tnarket price of a bicyclé is T 4,000.
While selling the bicycle if two successive
discounts of 20% and 10% are allowed, then the
customer will save for it

(A) T 800 [u] [
(B) T320 % =
©) T1,120

@) T480

40. What is the converted speed of -2% m/s in
km/hr.?

(=]

&

XKD DX RDP A XS DHEF DBLLEDDIO0D2DLD2J[LBODDBVEHTOTOLEHRGETRRKDTDHEKDDEKE

36, «F IBT GIH CIF @S TFA
11 RfRy/et @t gk Evee et 5 R/t
et T | B et eTetb oifael (Refi/ =Bty

(A) 3 BRy<nt
(B) 5 Rfi/a%t
(©) 8 R/t
D) 9 Rfi/=t

(A) =iy Eg‘m

B) @ o
&

©) &=

(D) Gt

38. <3l SETTelE fFa eeim Ige 4gd
PR AT IR, G5 e
(A) ==
(B) &6
(C) =vIeE=1
(D) Tow

39, <3 ARFEE AT 4,000 Bt | AR=1H
7 I = G TP 20% 6 10% RS
(A) 800 BR
(B) 320 Bt
(© 1,1205=
(D) 480t

40, 2= ﬁ%ﬁ/m@ sfetaesm &hy/esia
ﬁﬁa%@ﬁf%@ﬁi@?

(A) 6 km/hr (A) 6.53R/a%! ﬁgk
(B) 12 kin/hr ®) 12 R/t CIE-
(C) 8km/hr (C) 8 R/t
(D) 10 km/hr ®) 10 RBi/e%t

[l %j[=]

[=] =X
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41. 9-1— 0f3 7

9
a) 11
®) 8
©) 9

®) 7

7 ,
3=7

42 The population of a city is 6000 and 5th
of the population is male and rest of them are
female. If the 30% of the malés are married, then
the percentage of married females in the city is

(A) 10% E%g
(B) 15% Wi frs
(©) 25% [‘ﬂ

®) 35%

43, Complete the series:
7,11, 19, 35, 67,2
(A) 99
(B) 134
(C) 98
D) 131

44, 20mencancomplete ajobin 10days. After

5 days 20 more men join the group, Thén, how
many total days are needed to complete the entire
job?

(A) 7-5 days

®B) 8days

(C) 8-5days

(D) 6days

45. Present population of a town is 2,00,000.
The populationwill increase by 10% in the 1styear
and 15% in the 2nd year. The population of the
town after two yeats is

(A) 2,53,000 ERE
(B) 3,50,000 TH 1
(©) 3,00,000 O]

D) 2,35,000

[s]
o

=

SL.D/23-D-4190120/07

=
~1

ERKDERASOA XSGR XX DBV RVBVDDODVTDCORORERNOD VOB REDTERNDTERDDREREN

=

T

SLD/23
o3 2 7. 1
(A) 11
®) 8 Bl 1]
e ke
(©) 9 ]
oy 7

42, @3B *=EE (A SERY 6000 R 6
30% R @, or «owmi Raifks wfeee a—
(A) 10%
®B) 15%
(©) 25%
D) 35%

43; Tl e T 3
7,11, 19, 35,67, 2
(A) 99
B) 134
(C) 98
D) 131

44, 205 @IF <30 IS 10 T o4 T30
| 5 T +itg wEe 20 & @R wE Q@ e

Sl T} D T 20 GG Tl a2
(A) 7:5T=
S
(€) 35T I0F.
@) 6%

45, 93 *ead IS PRl 2,00,0001
TR e BT 94N T0F 10% 9 e =t
15% 201 R e #{( 6% TR PR TE—

(A) 2,53,000
(B) 3,50,000
(C) 3,00,000
(D). 2,35,000

Please Turn Over




46, Who won the: International Booker Prize
20247
(A) Ms. Jenny Erpenbeck Ok O]
(B) Margaret Atwood e o
(C) Toni Motrison
(D) 1. K. Rowling.

~ 47, Which of the following elements is not
found in human body?

(A) Copper

(B) Zinc

(C) Iodine

(D) Lead

48. A merchant buys two kinds of coffee, one
at the rate of ¥ 8,000 per quintal and another at
the rate of ¥ 10,000 per quintal. He miixed them
in a proportion of 10:6 respectively. If he wants
to have a profit of 20% on the whole transaction,
then at what. price per quintal he must sell the
mixture of the coffee?

(A) ¥10,500
(B) ¥3,500
(©) T9,500
D) T 10,200

49. The ratio of the present ages of father,
motherand their son’is 6: 5 : 1. When thie son will
attain the present age of hig father, at that time the
sum of ‘their ages will be 135 years. Find the

present age of the mother.
(A) 30 years [} E
(B) 36 yeats M
(C) 25 years =l
(D) 35 years

50. What is the least positive integer fo be
added with 8270, so that it will be divisible by 16?

v
%

HEMDOHEDORXFS O R DIDROISVITIODODODOOSODETTRDDODODTERED D RED DT RWND D KRR

46. (% DG ST 1T 2T 2024 FIS T ?
(A) T &R qaeavEs
(B) Wit GBeT
(€) SR wfEFm
D) & @. ABER

47. BT @ SARHAD TR L AT AL
(A) ot .
Y Lot
[x]

(B) form

(C). =T
D) Tt

48; qFTH JIH (-9 I I

8,000 Bt '@ 10,000 Bt TXIe WA FW I

10:6 Sstits fildre arem | o fo kg Bog

20% =TS 0, O 6 ke < Fo bl 33 Bter

v R wme

(A) 10,500 Bt
(B) 3,500 Bl
(C) 9,500 5=l
(D) 10,200 Bt

49. el el @ <JgI 6 FEE Hite
6:5: 1194 =fgas I Prolg 69 OE AL
(R S O [oeeea e B TR 135 =11

(A) 30377
(B) 363=d
© 253=A
(D) 353=g

50. 8270-47 ANY WY @ TGS R

G5 T G 16 Tt Rt g R
@A) 2 A 2 i
_ @) 2 w.%g
®) 4 ®) 4 =
€8 © 3
@) & (D) 6
[l 5=l
DFSL
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51. What does the Persian word shah mat /
checkmate mean?

(A) King is alone.
(B) King is hopeless.
(C) King needs help.
(D) King is dead.

52, Twotaps A and B can fill a tank in 5 hours
and 20 hours respectively. If both the taps are open
then due to a leakage, it took 30 minutes more to
fill the tank. If the tank is full, how long will it take

for the leakage alone to empty. the tank?
E5m
b

(A) 44 hours
(B) 9 hours
(C) 18 hours
(D) 36 hours
53. Amindivi Islands in India are best known
for which of the following?
(A) Coral Atolls / Reefs
{B) Abyssal Fans
(C) Seamounts
(D) Estuaries

54. Which one of the following rulers built the
Rathas Mandir of Mahabalipuram?

(A) Pulkeshin Second
(B} Rajendra Chola
(C) Narasingha Barman Second

(D) Rajaraja

55. Find out the cdd one:

X XDETRADGDT XSGR X DILOIZ2LHLSOLHDDOD2IBZRDDDDDD DD OW N DD NN D D NN DD RN

il s

51. S % g 7o/ GIEH-93 9 e

(A) e 3|
(B) T SR | Ei@
(C) Foid HYT wadid | Y Lt
(D) e Al Coiczs | E éﬁ

52. A'e B %6 35 fiw <3l Siiere ©fS sare
JUFE 5 T € 20 T 7N =itet | Giwhee &g
<P e B JET G CAIET SR TR o
Fars 30 ARG T @ wticst | 9 Onigl ©fF S,
2Eqe

(A) 4% 9%t
(B) 99%!

(C) 18!
(D) 36 9%!

53, orex WS Qeiog Ao iy T
AR @ wifdibs e

(A) eRierebia / b
(B) o7 ©&

(C) PGS

(D) Gt

54. RIS (R “APie sRFmEEE aYutE

ifidt st
(A) faSt it Egﬁ
(B) e (Bl Op AR
(©) Tad Tabrz oM
55. & eoidR Tw (e @ 2) G

D) TeElE

(A) Neil Ammstrong [=} IS, e e ¢
(8) Edmund Hillary TH (A) et iR
(C) Yusi Gagarin [=] ®) oS e
(D) Sunita Williams (C) 3T saifae
(D) 7ot TR
E_ [=] Please Turn Over
L]

SLD/23-D-4190120/09



sy [

56. Where is Vansda National Park located?
{A) Uttar Pradesh

(B) Gujarat E E
(C) Rajasthan Y Lo
(D) Madhya Pradesh E

57. Whatisthetheme of ‘AyurvedaDay2023’?

(A) Ayurveda for One Health
(B) Integrated Medicine

{C) Vasudaiva Kutumbakam
(D) Ayurveda Amrit Kaal

58. The average of 10 numbers is 20. If each
number _is increased by 5, then what is the new
average?

(A) 24
(B) 20
©) 30
®) 25

59, ‘Kalamkari’ painting refers to

(A) ahand-painted cotton textile in South
India.

(B) a handmade drawing on bamboo
handicrafts in North-East India.

(C) a block-painted woolen cloth in
Western Himalayan region of India.

(D) a hand-painted decorative silk cloth

in North-Western India. E ]
0

60. Barakar is a tributary of which River?

(A) Ajay

(B) Mayurakshi
(C) Damodar
(D) Kansabati

D-10

*
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56, Sl SR EM (N SRS

A) TezeTe
(B) werAfe
(C) ey
(D) Tgeime

57. ‘ot T 202393 R e

(A) <5 IS O SR

B) e aqy E J:J
(©) I T [
D) YL oo e

58, 107 MR A %= 20 | HfH RBrFM 537
& A1, i TG T T
(A) 24

(B) 20
© 30

D) 25

59, ‘FeTaelis’ ade 2=

(A) Wi ofTed e S ffeeg|

®) Ter-f oracs et i T
@53 0o Hi! Bl

(©) #ox Rater Feas =i 7= Imw
Tolq g9 TRl ot |

(D) Teg-=ifivn ey @Gl IEd T
S i ez |

60. I (TN 0T oA ?

(A) oEm

(B) TR
(C) wrwg
®) FERS

=] £ %]
|



=
[y
-y

61. In which year NATO was formed?
(A) 1947
(B) 1949
(C) 1952
D) 1960

62, Thereare 62 questionsinatest. Eachcorrect
answer gives 2 marks and for each wrong answer
1markis deducted. Ramen scored 34 marks and he
attempted all questions. Find the number of
questions Ramen answered correctly.

) 34 LIS D)
(B) 28 ik L
©) 33
(D) 32

63. Gandhi Sagar Wildlife Sanctuary is famous
for

(A) Cheetah reintroduction project

(B) Lion reintroduction project

(C) Red Panda reintroduction project
(D) Black Panther reintroduction project

64, 1£40% of P=075 of Q= % of R, then find
the value of P: Q : R.
(A) 15:7:25
(B) 3:26:28
) 16:8:5
(D) 15:8:24

65. Whichcountry has launched the Nationwide
Mass Drug Administration (MDA) Initiative for
Lymphatic Filariasis?

(A) SriLanka E E
(B) Nepal OF.
(C) India

(D) China

=]
i

%

SLD/23-D-4190120/11
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61. (I T2 V! stid TERA?
(A) 1947 Al
B) 1949 G E]g@
C) 1952 A i,
© s
(D) 1960 AIcE

62. <36 AR IS 62 5 o ot | S5 o
TR ) 27799 (REA 20 3% 2O §H Se@a oy
1 <93 It 20| 9o dfel omw Tew e ¢
34 THA (RS | 90 Foul dAeig Wiee O
TR ot iy o |

(A) 34
B) 28
(©) 33
D) 32

63. SR AR ST @ e Rgte—
(A) G itz Bl wiegme et #{Hseiaen
AR |
(B) @RI Wi Figg e wli wjnzeén
25 |
(©) @9itA HiR = ASt RITFT
reTE 215 |

(D) 9t Sitm, Sieert ot A I g
TR S ANATE A |

O P: Q: R-93 I Fisfr 7 |
(A) 15:7:25 EEE
s
(D) 15:8:24
65. @M 1 Frefe wiERafioem e
(A) Serst
(B) @Al

64. T P<9 40% = Q-7 075 = R4 % =,
(B) 3:26:28
() 16:8:5
GO i 1t SRR (e ©rglel BT
FrAlE?
C) ©iF®
(D) B

Please Turn Over
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66. The pH value of human blood is

¥

66, WIS T 4935 (pH)~I9 I =

(A) 74 (A) 74
@) 83 (=] 5 =] ®) 83
© 68 M a ©) 68
D) 7 M) 7

67. Which country hosted the Asian Surfing 67. i AR wifPemfer 2023 @ ot

Champi((gshIiEdZiO%? SIS e ?
a
> e =5
(©) Mauritius ‘ x]
(D) Bangladesh. (C) Pt _ '
(D) =™ y

68. Who has been re-elected as the Speaker of 68. 1899 @iTem PrieR (Ouw) B &

the 18th Lok Sabha? AreSe TR
(A) Jagdeep Dhankar (A) oo 44T -
(B) Om Birla (B) &7 Rt
(C) Harivansh Narayan Singh )
D) At T=iE

69. Which conntry is the ‘country of origin’ of 69, SREHIIEE Tl o’ @Rb e

taek“"”(li‘)’?K (A) @i
orca E E ﬁﬂ
(®) China ’"‘g“g (?:) A
(C) Japan [x] © =i
(D) Philippines D) Refsti

70. Two stations X and Y are 465 km distant.
A train starts from X towards Y at 10 am with
a speed of 65 km/hr. Another train leaves from
Y towards X at 11 am at a speed of 35 km/hr.
Find the time when both the trains meet.

70. 76 GONN X 9 Y-93 7Y 465 Bl | 93
G T 1051 X (U Yoo 65 /9%t @t &
il ©F T | R0 G I 11 519 ¥ (IeF X
oA 35 /%! (Rus It OF T | F-01F PR

EEBSORREOGOR XD XX DSOS LDSORODDDODORORBOORRRORO UMD RSO R RN

_ WP GG Riftre 73e |
(A) 2pm ‘
(B) sl;m (A) 2pm EE !
© 4pm (B) 5pm [=]3 }
(C) 4pm .
©) 3 |
P ©) 3pm

EE
T
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71. The oot of “Yoga’ is found in a hymn of * 71, ‘@s’-qq I AT @9 @E CBiog 2Ateq

which of the following Vedas? qe?
(A) Rig Veda (A) ¥R E#E
(B) Aﬂfa,“"a"eda B) S !";I.Eg-l‘i:
(C) Yajurveda : ] _g
(D) Samveda © '
D) AT

72. a6 =g 10 R/ @l Aiggea v
T iz 99 15 668/ oot Rt i | 57

72. A student went to the school by cycle in
10 km/hr speed and returned back in 15 km/hr

- speed. Whatis the average speed of the entireride? AR 9u sifers To7?
(A) 12:5 km/hr &[] (A) 12:5 &fi/a%t
(B) 14 km/hr v *‘%‘; ®) 14 RFRy/=s
(©) 12km/hr (o] © 12RfyeD
(D) 13-5 km/hr D) 13-5 Rh/a%

73. SR T T e S AT ST

73. Who was the first Indian woman gymnast

to qualify for the Olympics? R i e
(A) Jhulan Goswami (A) I R
(B) Dipa Karmakar ®) * ait STl
(C) Mithali Raj
(D) Geeta Phogat (C) ot =t
D) et cFIsiG

74, The Hindi film ‘Padman’ released in 2018 74. 2018 Wit 4 =i BF% =R oW 19

was inspired by the true life story of EE e IR wE! “ﬁﬁﬁ@ e ¢
(A) Arunachalam Muruganantham (A) @D oA =
- ®) R. Balka ®) w. TR Eg‘%
(C) Akshay Kumar (C). = T :
(D) Bindeshwar Pathak
(D) oo sAiee

EEREXSGDHRRDDTARKDIDR X TSP/ ZTRHTODSDDSGOODOOHTRGODPOODRNDD DT NG TR

75. The concept of Fire Temples is related to 75. Sf-uFE FeE e TR
(A) Hinduism ERE (A) &7 e
(B) Judaism. ﬁ;%’:&: (B) % 45fsre
(©) Tainism 1} (©) T e
(D) Zoroastrianism (D) TRYfBam e
[=]j[=] Please Turn Over
O Fal
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76. A sum of money amounts to X 9,800 after

5 years and ¥ 12,005 after 8 years at the same rate
of simple interest. The rate of interest per annum

SLD/23

18

b [=] =]
(A) 5% i
B) 12% [w]
©) 8%
D) 15%

77. ‘The Hombill Festival” is celebrated in
which State?
(A) Manipur
(B) Arunachal Pradesh
(C) Nagaland
(D) Mizoram,

78. Who wrote the book “An Era of Darkness
: The British Empire in India™?
(A) Amlesh Tripathi
{(B) Shashi Tharoor
(C) Hamid Ansari
(D) Bipan Chandra

79. In a pond, the number of lotus becomes
double in the next day. If it takes 15 days to cover
half of the pond, then in how many days the entire

pond will be covered by lotus?
(A) 16 days E Eﬁ!
(B) 30days
(C) 29 days

(D) None of the above

80. X, Y and Z are business partners. In the
business, twice the capital of X is equal to thrice
the capital of ¥ and the capital of ¥ is four times
the capital of Z. If the profit earned is ¥ 2,97,000,
whatis the share of ¥?

HEBPDRUD G AR SR X DD SODIDOLIDDSHOBOODDODD DO SN N D D NN D D NN G N NR

D-14

76. B TR ATAREN A A DA 5%
9,800 Bt @R 8 IR 12,005 Bt =W | AT
LT

(A) 5%
B) 12%
© 8%
(D) 15%

77. ‘TiE B Sl = (TS W) @

e/ e
(A) " E%%
(B) SFeIfBaT AP CIpas

(C) AT
D) T

78. “An Era of Darkness : The:British Empire
in India” 386 & FecafeFm e
(A) ST o
(B) = AFq
(©) 2w aFR
(D) Reitwver

79. 8B AT AT Y A ot TRe g
i 18 15 e < oo of =8, iz ol
el =jalt stgeT @t ofS &

(A) 16T
®) 308
© 29T
(D) Toiza @IEIE 7

80. X, Y qR ZGF0 TIRAR Sami | Frefre
X3 G o Y-oF SFHEE 3 ST AN G3R
Y43 E4R 2 SEHTAE 4 ST Fi | 3w wices
AR 2,97,000 Bie 2, S Y-9q Sl Fo 2

(A) 1,18,000 Bt

(A) ¥1,18,000 [u]
(B) ¥ 1,08,000 (B) 1,08,000 i<t o
(C) T1,28,000 (C) 1,28,000 %=
D) ¥1,38,000 (D) 1,38,000 B}

[=] X [=]

=]
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81. Which of the following states does nothave
Veto power in the U.N. Security Council?
(A) United States of America
(B) United Kingdom
(C) Canada
{D) France

82. By reducing the selling price of a
book-shelf by ¥ 2,000, a gain of 10% turns into a
loss of 10%. Find the original selling price of the

book-shelf,
(A) 10,000 @E%
B) 11,000
(©) 12,000
D) 9,000

83. Under which Article of the Constitution
is the President’s rule promulgated in any state
in India?

(A) 326
B) 370
© 352
(D) 356

84. Which one has not been clected as
non-permanent member of the UN Security
Council for the 2025-2026 term?

(A) Pakistan
(B) Soimalia
(C) Denmark
(D) SriLanka

‘85. Which one of the following is a tributary of

the Brahmaputra River?
(A) Ghaggar [=
(B) Mahi Wb
(C) Kosi
(D) Manas
i
=

SLD/23-D-4190120/15

HKERDSDERXGEGRFD O A X DIPLOGOGDID/DDIPOSDEDVRIRVD2TQ0TH KD RRG T RETEH NN

| ZEERE

81. TyFRe i g wienas Rae AR

(06! TSt (R ?
e
OE.%

(A) SRS TR
(B) Jearsy

(C) TSt

(D) T+

82. 3T IRF OILTH RFTET 2,000 5161 S

e 10% =ited W@ 10% FS | 307
ool s RemEy o

(A) 10,000 Bt

(B) 11,000 St

(C) 12,0005t

(D) 9,000 B

83, SEOR MR @ 4 FAfed ==
OiA0ed @ (I sy wifd w9 e
(A) 326
@B) 370
©) 352
D) 356

84. (W G 2025-2026 €} AHRETE IR

srafere wifestem, Haleiel Alams sl WU
i e @fte
(&) iRt [=]:53[=1
®) o i
(C) T o
(D) Sevei

85. e "E o SR T
(A) T I Qe Wl
B) WY 7
(©) ="
(D) 1 <t

Please Turn Over



T b6

86. X is twice as good as ¥ and together they
complete a piece of work in 20 days. In how many
days will X alone finish the work?

86, X, Y97 fRed v «a o g b wi

20 e 3o R | FoME X @t o8 IEh 1w

- TAE?

A) 22da ] [=t

((B; 30-da§: ”‘k (&) 227

(C) 35 days = ®) 307

(D) 40.days © 35T
®) 40f=

87. When a bus starts suddenly, the passengers
are pushed back. This is an example of which of
the following?

87. T4 G IPT G BTN OIS O

(T R FoCS WF FH, O GR IFTE TR
Treq wey fPien e o 3w | o o e

A) Newton’s First Law - e
(B) Newton's Second Law KSh ('A)‘H ot E&E
(C) Newton’s Third Law ® NG f“ﬁﬁ@g’ﬁ ﬁ‘Ei' T
(D) Both (B)and (C) B). fevers e 7

(©) FEtEA gom

(D) (B) 93k (C) T,

88. NASA launched the Lucy Spacecraft to

88. NASAT TR b1 R0 R TR

observe which celestial body? I @ A0 ?
(A) Moon (A) 3%
(B) Jupiter B) 3=ife
(C) Asteroids ?(3,‘; N‘I
(D) Meteors Er'f E ' ,
i% (D) Tt

89, Simonand Anik save 25% and 40% of their
respectiveincomes. If their expenditures aré equal,

HEMXSSHRDTI G ARG E XX DIODHLJID/JDINLISSEVDDDODTOOOOTRETTHRDTDRED D N EE

then find the ratio of the incomes of Simon and @
Anil
(A) 4:5
®B) 3:4
{C) 5:6
(D) 6:5
] R [=]
Of
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89. T O S SItE ST IUFW 25% 6

40% AET 0L | I Oltrd AF6 I LTS, o P

SRS ST TS T Ol Rl T |
A) 4:5
o EE
®) 3:4 e
(C) 5:6 )&%
D) 6:5
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90. Who founded the Asiatic Society of Bengal?
(A) Bankim Chandra Chatterjee
(B) Madhusudan Dutta
(C) Charles Wilkins
(D) Sir Willian Jones

91. A man decided o covera distance of 6-km
in 84 minutes. He decided to cover -%rd of the
distance at 4 km/hr and the remammg at some
different. speed. Find the speed after the -—rd

distance has been covered.
(&) 45 ke IR
(B) 5km/hr E]
(C) 5-5 km/hr
(D) 6 km/hr

92, Full formof PETA, anorganisation working
against the abusive treatment of animals is

(A) People, Environment and Treating
Animals

(B) People for the Ethical Treatment of
Animals

(C) People for Environment and
Treatment of Animals

(D) Panel forEnvironment and Treatment
of Animals

93. Which country’s Arined Forceés have
recently been honoured with the Golden
Owl Award for outstanding performance?

(A) China EI [
(B) SriLanka Ao
(C) Singapore

(D) India
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e

***%%**@%**%@**-@%%a%4’%&%%%&é%%&{%%@@%‘é&&%@&%@@é&@**%%**%%**%%***

Bt oo
90. % FRIE FIRD wF @ oifod T2
(A) IBIoE SISO
®) P T EE
(C) it TR, fu]
(D) I OIFrW @

91. <% % 84 FiG GWWWW
P ReE |1%ﬁ\'33w 2 wyest 4 RS 20B1 oot
E SREBIR 0. sfr—cwf NeHF Faiy e
% wmmmzrﬁﬁm sifetas P

(A) 4-5 RSt
(®) 5 Rf/=m
(©) 5-5 R/
(D) 6 Tef/=%

92, PETA-97 s, ¢ TRetow & =tetrd
(A) TR, AT @R e <t 2ft
(B) “amm T HiFewg & T
() AR R 2Tz B v wiE
(D) #fiw “{fRet e Bidea e shiwe

Eg%
TP
=

93. (B TIE I AR RS wEdEd
(A) B
B) s
(© P
(D) ©iwe

Please Turn Over
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94, If dayafter tomorrow is Saturday, what day *
was 3 days before yesterday?

(A) Monday
(B) Sunday
(C) Tuesday
(D) Wednesday

95. Eric J. Hobsbawm authored the book—

(A) Pride and Prejudice
(B) Great Expectations

(C) The Age'of Revolution (1789-1848)
(D) Crime and Punishrnent

96. Which countryis considered the founding

member of FIFA?
(A) France
(B) Belgium
(C) Netherlands
(D) Switzerland

97. Three positive integers x, y and. z are
such that x+y+z is even. Then which one of the

following is not correct?

(A) All of them may be odd.

(B) All of them may be even.

(C) x and y 'may be odd and z is even.
(D) yand z may be-odd and x is even.
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i
=]

=z

94, SfielEE sie v 3R e =, ow
sfeiteTd 3 T S 9l = e

(A) G
@) TR
(C)
)

95, . 5. TPWOR CRI RP & (=]

(A) 2i%G Wt g El%%
(B) @ THATE |
(C) Woers[ (Rofre==7(1789-184812)
(D) i =pis AFHTTS

96, (I (P Reepta SIS 1o B Ricae=i

CE TR
(A) T
®) e
(C) miseOE
(D) FREETS
25 =

ARG ORRGEGR RSO EXR OGZOJHOHRILGRORETERVIOOBRODOODRRDD R RND D NN

e
=

97. o «mI® R 1, y 4R z PH @
xty+z @30 (@ TP | oEE R @ik
os e

(A) 72l MY{E Reere 2 =)

(B) HI3 HRAR HC Lo A |
(O) x aR y Reaie o A R z (&6

R

D) y R z Reale gre +ita @R x @i

TR




98. There are 5 students standing in a row.
Every student has two more books than the student
infront of him/her. Then the total number of books

is =] 5=}
(A) always even. e laris
(B) always odd. [a]

(C) might be even or might be odd.
(D) neither even nor odd.

99, Which is the scientific instrument used to

measure atmospheric pressure?
(A) Galvanometer
(B) Fathometer
(C) Barometer
(D) Altimeter

100. If the L.C.M. and H.C.F. of two 2-digit
numbers x and y are 36 and 6 respectively and

x<y,thenx:yis

: [=]5[=]
(A) 2:3 =

© 3:5
D) 4:5
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HGHOs0ORBRLLERGHRVSDRORODODRRDDEEDTDHRD D NN
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ZrE

98. 5T T <3 AN Witw Wiz e
B6EA 0L OIF g By (@ 2 B I e
IR | ST NG BET At

(A) AR (T |

(B) W frae !

(C) @Nw8 20 i, Rreee e i |
(D) &% G} RS @HE 7|

99, IFNETH Hi7l AT ISIT 70T 1 2

(A) BEeIARHE FEE
(B) WIRIRGE *‘-‘éig‘é
(C) T=ifGE kS
(D) SF5RGE

100. W {0 2 ST R x R y~I9 71772, @R
AL, JYUFE 36 IR 6 ]F, IR x<y T, OFH

x:y=s
(A) 2:3 E E
B) 1:2
©) 3:5
D) 4:5
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